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1 : Whatisthe name of part marked as ‘X’ in the

heavy vehicle? | j-I'Iﬁ?JI'IET-HET X’ %Wﬁﬁﬂ%ﬂ
I &1 AT T 52
X

i an_z
——9]]
L= &b g
Steering wheel | Wﬁﬁ

Clutch housing | WB’I@@W
Gear box | TR Sia

Fuel tank | W%EF

OO w >

2 What is the battery system used for heavy

vehlcles? | R} aTe H 19 Tt 9T TR Bt Sl
6 volts | G-alee

A
B : 12volts | 12-dlee
c .

D

24 volts | 24-dlce
28 volts | 28-dlec
3 : What is the workmg principle of clutch? |
FTd BT HIBR] RIGTd 182
A : Sliding | W'Ié%"'[
B : Centripetal |
C : Friction |
D Screw and Nut | T@"(:I?:’)Q_q’:l?f

4 What is the type of clutch? | BISCACE:]
WWW%

A : Coneclutch | P Fad

B : Single plate clutch with coil spring | a1
T & 1 RiTTe wie o

C : Diaphragm clutch | STUWTH dcfd

D : Multiplate dry wet clutches | ﬂﬁ‘ﬁfﬁ@
g g

5 : Whatisthe type ofclutch?lﬁj:faa:f@
UHR HT I ?

1=

A Single plate clutch | R7a wie o
B : Dogclutch | EUERE]

C Multi plate clutch | AR Wie oo
D Cone clutch | CARCNE]

6 : Whatisthe name of clutch? | EsCNEE
AR ?

el

NT

A : Coneclutch| P g

B : Diaphragm spring type clutch | SI%H BT
EPESES

C : Dogclutch | CuENE]

D : Multiplate clutch | A Wie oo

7 : Whatisthe name of part marked as ‘X’ in the
dog clutch? | M SMTaea & "X’ GRT GRITT TTT YT
TG ?
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Splined shaft | TS S WU

Driving shaft | @—&'ﬁ’TW

Sleeve | it

Internal teeth | Gﬁw-ﬁa'lﬁ(lnternal teeth)

OO W >

What is the name of component? | FH= a3

8
A P I U ?

A Single plate clutch | RTd wie aada
B : Multiplate clutch | A @ie &ad
C : Fluid coupling | WW

D Dog clutch | EERE]

9 : Whatisthe name of clutch? | B CNER
G ?

N

_—
N

A : Cone clutch |ﬁ=raa%r
B : Dogclutch IQWW

C : Multiplate clutch| AR e o
D : Single plate clutch | I @ie Fod

10 : Whatis the name of part marked as ‘X’ in
the fluid coupling? | ﬁﬂwgaﬁuﬁﬂﬁ X gRT
fafgT U ST R B 2

§\\\\\\\\\\\\‘\\\\\‘wf\‘\‘\‘%L *
A : Driving unit impeller | ST3fdT gfAc SR
B : Crankshaft |
C
D

Driven shaft | gﬁqw
Interior fins | 3Gl (g

11 : What are instruments used while inspecting

pressure plate? | W@Eﬁﬁﬁ%%ﬂ:?ﬁ?@r

A : Straight edge and feeler gauge | F?EQW 3R
PR 9

B : Steelrule and angle gauge | Tawd e?l?
et 71

C : Straight edge and slip gauge | @A_C'QTYT GﬁT
Y TS

D : Parallel block and radious gauge | wad
e R ST TS
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12 : Whatis the name of tool marked as ‘X’ in
the clutch aligning assembly work? | &¢Td TSI

T H A X ST T SUSRU BT RTATH G ?

A

B Parallel block | WA sAlIh

C Clutch aligner | CRELNIEGH

D Cylindrical drift | WW

13 : Whatis the name of instrument marked ‘X’
in the fly wheel run out check? | tlﬂ'l_sco_sﬁﬁ?:f
3{T3C I P & g X’ o g GRT g=I 1Y
JUH HTAH TG ?

A : Outside micrometer | 3\&HC HIFS

ASHhIHeR

B : Dial test indicator | STUW ¢ g dhex

C : Inside micrometer | QWW
D : Boredial gauge | ST IR IS

14 : Whatis the name of seal marked as ‘X’ in

the servo piston? | = o gaf foem 7 ¢ E'QI'T'Q
TCHA BT RIG ?

X
Square cut seal | PR P Ad
Metal sealing ring | 'iﬂﬂml%‘l‘lﬂ"'[

Lip seal | ferg

Teflow seal | NI

o0 w >

15 : Whatis the name of gearbox? | IEt=ACEE:
D I FRR IR G ?

T
1l

,1_

|

;

|

|

|i|

[

|
Fm

A : Constant mesh gear box | Pge< A iR

(3

dlerq

B : Sliding mesh gear box | TS AY fiRR
CIEN|

C : Synchromesh gear box | fopraer R S

D : Automatic synchromesh gear box |

JfcrAfes wWrsfs R Sieg

16 Whatisthetypeofgearbox?|ﬁ|1:fﬁ|3[ff
DA ARG ?

A : Constant mesh gear box | Pge< A iR
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B : Sliding mesh gear box | TTSIST AR IR

192

EIcN|
C : Synchromesh gear box | R iR siey
Automatic sliding gear box | 3fecAfes

W%ﬂﬁmaﬁ'ﬂ

17 : Which instrument is used to check the face
out of the fly wheel? | UGS sid T 1 13T IH
FRA & e for IUHRUT BT aNT fhan ST g 2

A : Dialindicator | W“{W

B : Bore dial gauge | EREEIENEIR

C : Outside micrometer | 3&HC IS

D : Inside micrometer | E%Wﬁa’ﬁtﬂa

18 : Whatis the permitted axial displacement of

tripod joint? | ﬁ?{ﬂgm &Ijqﬁqa:\qa
fSat<

TG ?

A : 55mm
B : 58mm
C : 64mm
D : 68mm

19 : Whatis the permitted diffraction angle of
tripod joint? | EA'VI@T‘ETW WWW% ?
A : 13

B 18°
c : 26°
D 32°

20 : Whatisthe type of constant velocity Jomt |

A P O UPR BT pide< ﬁ@ﬁ‘c"rv_ﬂ‘c’

=

A Pot joint | Cﬁ?:’ﬁ'l%?:’

B : Tripodjoint | ‘;’l‘s’qﬁgm
C

D

Ball joint | ST1 SdigC
Double joint | S SdIgC

21 : Whatis the type of drive line? | IBE=kcaC
P UPR D PRI ARAR ?

O——0

T P90

o——o0

A Front wheel drive line | thC %)[FT SIEENIES]
B Four wheel drive line | W%‘rasrs’aaﬁ:r
C Rear wheel drive line | ﬁm%ﬁa‘;ﬂ‘s’aaﬁ:{
D : Center wheeldrive line | W%ﬁﬁ@%ﬁ
NIEN]

22 : Whatis the type of drive line? | GBIk
A grRa e ?

O
O
|

A : Front wheel drive line | Th=C o1l S13d 1S
B : Rear wheel drive line | ROR o81dl g1 @13
C Center wheel drive line | ¥<CX Osnlﬂ SIEE!

D : Fourwheeldrive line | Uﬂ?%ﬁﬁ@%—d@ ERl

23 : Whatis the type of synchromesh gear box?

|ﬁmmwwﬁl-—mﬁﬁmﬁww%?

A : Baulkring type | WW?@

B : Baulktype | dedh CIgU

C : Multiand double cone type | et 3R S
CACKED]

D : Porchetype | qﬁ%f‘drgcr
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24 : Whatis the type of synchromesh gear box?

| i g veR o1 Rpa TR afag § 2
|

N8
A : Baulkring type | Wﬁ"TE’IBU
B : Multiand double cone type | et 3R S
CAREIEY|
C : Baulktype | deb CISU
D : Porchetype]| th%f‘c’r{q

25 : Whatis the name of part marked as ‘X’ in

the synchronizing action? | @aﬁm&nwﬁ
x g & foru g g 2

A : Gear | R

B : Conical cup | CAGICANER

C : Hub|®Y

D Synchronizer sleeve | ﬁl'_m'ﬁ:ﬂETﬂWﬂa

26 : Whatis the type of fixed constant velocity
joint? | T i & 9 O bR 61 b g
R safge & 2

Double joint | S9d SdIgc
Ball joint | §Td1 SdigC
Pot joint | Uﬁ?ﬁﬁf
Tripod joint | g\@gm

OO W >

27 : Whatis the type of constant velocity joint?

| e R e rerReTwREe g ?

A Tripodjointlwwwmm

Sqige

B : Balljoint | ST CI8U gHaud sdige
C : Potjoint | Wﬁ'qﬁ'lg_cf

D Double joint | 4 SdigC

28 Whatisthetypeofjoint?|ﬁﬂﬁﬁﬁﬁ:{
M YBR BT BTG [ Saige § 2

A : Ball and trunion type universal joint | E}@g
. o

B Cross type universal joint | dl¢] vdlgc

C : Slipjoint | Ulc Saige

D Double joint | SFd SdIgC

29 : Whatis the type of drive? | e fmd

Torque tube drive | ‘c’%eu;q’@%‘d
Hotchkiss drive | Eﬁmw

Four wheel drive | W@ﬁasﬁa
Front wheel drive | Th=C S8Id 13d

OO w>
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30 Whatisthenameofdrive?|ﬁr'[ﬁ|3[ff
FH A UPR AR ?

Torque tube drive | E’%E’Q@W
Front wheel drive | Wo—eﬁagrs’a
Rear wheel drive | W%ﬁﬂ@%ﬁ
Hotchkiss drive | Bﬁ%ﬂw

OO w >

31 : Which type of joint permit small diffraction

angle and linear variations? | WW$W

?%%W:TW 3R T afkg= & forg S
?

A : Flexible discs | Toifaad fowhd

. Double joint | S SdigC

Pot joint | @E’m

Tripod joint | ;T‘{qﬁ'c’m

OO w

32 : Whatis the permitted diffraction angle of

double joint? | €3¢ Sdigc T AR fSlharr

( ) DI RTG ?

A 50°

B : 62°

C 58°

D 72°

33 : Whatis the name of part marked as ‘X’ in
the double joint? | ﬁﬂﬁaﬁmmﬁ X’
SR SR T YRR g ?

Spider | WIgSY

Shaft wheel end | Wo—cﬁa@s
Double joint fork | WWW
Sealing cap | IRINUER

OO w >

34 : Whatis the permitted diffraction angle of
pot joint? | UIC Saige H fSthaR W fava
S BT g ?

A 18°
B 20°
C 22°
D 26°
35 : Which type of gear converts rotary motion
in to linear motion and vice versa? | et TR &1
ﬁ%ﬂeﬁw&%@unﬁﬁmw% 3R
ﬁqﬁa 2

A : Helical gears | %F‘HWW

B : Rackand Pinion |3$3?|Tﬁfﬁ'q:[
C : Spurgear | R R

D : Bevelgear | Sad TR

36 : Which type of gear will not produce axial

thrust while transmitting torque? | fPg R @1

?@iﬂ?wﬁz%wm U I
5

A : Helical gears | %?ﬂav_(‘[m

B : Worm gears | g iR

C Spiral bevel gear | WWW

D Spur gear | R R

37 : Which type of gear will have more than one
tooth in contact at the same time? | fPIUBPR &
R T Ue 8 990 d 0 ¥ 31 gid s |
fgag?

A : Spurgear | R IR

B : Rackand Pinion |3$Q'U_6'ﬁﬁ'€|:[

C : Helical gear | %?ﬁwm

D Spur bevel gear | Waﬂﬁﬁtﬁ

38 : Which type of gear teeth are straight and

parallel to the gear axis? | P IpR & AR gid
IR Ui @ W ta TR 8Id © »

A : Spurgear | R IR

B Helical gear | %?ﬁww

C : Worm gear | g iR
D

Bevel gear | Sad R

39 : Which type of seal allows a controlled
amount of fluid leakage to lubricant moving parts? |

g UeR &1 dia ferehst b1 T Feifa
O H A 61 BT by UHR fHaT g ?

A : Staticseal | R da

B : Positive seal | gifvifea Oid

C : Non - positive seal | i gifsifea Iid

D : Dynamicseal | SIS Tid
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40 : Whatisthe name of seal used between two
parts that do not move in relation to each other? |

&l HITT 7 U IR & 1Y -T8] gHd & 31 o
g UHR 1 TTd BT TN faaT ST g 2

A : Dynamic seal | SRS Id

B : Staticseal | e da

C Square cut seal | JPhR Pe Ad

D Teflow seal | THAA

41 : Whatis the advantage of using constant
mesh gear box? | HIe UL IR §iay & UanT
BIRTAHR ?

A : Quick change of gear obtained | 3{TdR[IH
TR =fie gge

B : Wrong adjustment of gear will not affect the
function | TR &1 TAd 8 TR & 9 g1 gHTfad
C : Smooth power transmission | WW
RYTTCRUT

D : Efficient lubrication possible | PHIGEAT]

NEICREEIRLTCE]

42 : Which type of gear box provided with
helical gears? | WW%W@W‘#%@W
iR g1 fpu S § 2

A : Auto synchromesh gear box | 3l Y=p A
R afed

B : Constant mesh gear box | PITccH R
CIEx]

C : Sliding mesh gear box | WE%‘TW
EIEN

D : Synchromesh gear box | Ip e IR S

43 : What type of inspection carried out on the

pressure plate? | ﬁﬂﬁﬁ[ﬁ, ISR Wic H {5 UHR
&1 g B ARG 6 ?

e . U

/a C R W7D

A Checking war page | ARUST b BRI

B Checking crack | I b BT

C : Checking clearance | TR b BHRAT

D Checking squareness | W%W

44 : Whatis the advantage of dual mass fly
wheel? | SUd ST TTS &1 AT AT § ?
A : Prevent wrong clutch engagements | TTcId

W@ﬁﬁ?ﬁaﬂm

:  Reduction of gear box and body noises |
ﬁqu&aﬁ‘rﬁ 3{TTSH 1 HH HIAT

C : Transmit the torque with less effort | hH
T & 1Y TIh YaTd B

D : Reduce the possibility of clutch slip | dcId
ETT 1 Fradr Bl Y DHRAT

45 : Which part of dual mass fly wheel isolate
the fly wheel mass system of the engine? | a@%
T TeTTs eI ol o1+ T fe T $o11 & TelTs gl
umﬁlwaﬁ 3ICTT R B2

Gear box | R aiag

Vibration damper | asa*-ﬂ:[ém?

Crank shaft | &b QI

Cam shaft | FH UG

o0 w >

46 : Which is noise free clutch? | WT%T‘[
FADHAG ?

A : Single plate clutch | RTd wie aaa

B : Diaphragm spring type clutch | SawHH BT
CIQU od

C : Multiplate clutch| AR e g

D : Dogclutch | ST gad

47 : \Whatis the advantage of dog clutch? | ST
T PTATAH R ?

A : No possibility of slip | %ﬂﬁaﬁéw
TR

B : More frictional area | 31fdres Ty &
C : Less pedal force to operate | W%%’QW
q 6 e ST

D : Easymaintenance and repair | JGRQTd U

fRoafarsa g

48 : Which type of clutch provides more
frictional area and simple in construction? | frg

THR BT 5T 3 TH0T &7 T § Ug arac | off
WA BATg ?

A : Diaphragm spring clutch | SawH B o
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B : Coneclutch | P Fad
C : Dogclutch | ST &M
D : Multiplate clutch | Aol Wiel aad

49 : Whatis the advantage of using single plate

hydraulic clutch? | RFTA @ie 8T8 Siiaed aad &1
FTATHE ?

A : Minimize the force to operate the clutch |
FeTd YA Y ¥ S fad A
B : Effective frictional force obtained | YT &}ﬁ
UuTaasR"r@HT

:  Reduce the wear on the clutch plate | dcd
@Eﬁﬁﬂmﬁmm
D : Easyrepair and maintance | 3T HXHJ
3R TER@1d

50 : Whatis the name of part marked as ‘X’ in
the clutch plate?

| A, e we # x g & e g mar g

Damper spring | SR &
Clutch lining | ddd '
Torque plate | Tl e
Rivets | Rfdeg

OO w >

51 : Whatis the name of part marked as ‘X’ in
the single plate clutch? | RTTd @’c'ﬁ, ICER: '
fore YT o RIS 2

X

Clutch plate hub | W@?Bﬁ
Gear box drive shaft | TR dTa S84 Twe

Fly wheel | W@ﬂ
Pressure plate | IR e

o0 w >

52 : Whatis the main feature of hydraulic
actuated clutches? | B@WWWWH@I
am%

. Pedal effort transmitted through linkage |
ﬁww%ﬁﬁmﬁmﬁaﬁ%

. Pedal effort transmitted through spring |
ﬁww@wﬁmﬁmﬁz@?ﬁ%
C : Pedal effort transmitted through fluid | tsd
& & ( Liquid / Fluid) &) TeTadT ¥ ¢igfie gidi 8
D : Pedal effort transmitted through coupling |

VS 9 UG B TETIdl & R 8t &

53 : Whatis the advantage of mechanical
actuated type clutches? | qTf~ics HTABR! I BT
THAH R ?

A : Less maintenance and repair | @H XLRL[J
LCARERICY

B : Less pedaleffort | ﬁsaaamm%

C : Smooth functioning | ¥Xd

D : Easyto operate | TORTH 319

54 : Which factor does not affect the torque
transmission by clutch? | ﬁ?mmaﬂam
UTeR RITIRU1 &1 JHTferd e 3l § 2

A : Size of clutch plat | 9T meﬁ(—ll@l

B : Co-efficient of friction | WW

C : Number of clutch plates used | WG%TIE‘:
ESERNES)

D : Axialload on the clutch | WWQ@FWI@E

55 : Whatis the function of clutch? | dcid T
FE?

A : Increase and decrease the RPM of engine |
9 DI AR UL.TH. &I g1 ¢d §gHT

B : Connect and disconnect power flow engine

to gear box | Wﬁﬁﬂ“ﬂﬁm@
aren

C : Reduce the noise during engine running |
SO e & R SHTATST Bl HH HAT

D : Prevent malfunctioning of fly wheel | 1ZIFI'I_sc
CINEIRCNEIR Rl
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56 : Which system making the drive cabin

comfortable for driving? | Wﬁqﬁﬁzﬁﬂ

% SIS 1 SRTHGRID &1 o ferg, fear
?

A : HVAC system | Td 9 T Ried

B Starting system | TerféT Reeq

C Steering system | Wl Rred

D Charging system | it R

57 : Which system deals with alternator? |
W%ﬂﬂvﬂ?ﬂé‘ﬂaﬁa%?

A Steering system | TRk Rien

B Starting system | T Rer

C Charging system | o e

D HVAC system | Qﬁfﬁmﬁlﬁﬂ

58 : Which system provides DC power source
for the various units of the vehicles? | EI'IE:[EI%
fau=1 gfe & foe & 1 Rived S/vae #e
Urdx (D.C Power ) @T‘T% ?

A : Storage system | TR Red

B : Charging system | TrfoiT s
C Lighting system | ?’ﬂ%ﬁﬂﬁl@
D Steering system | TR Rien

59 : Which system not connected with electrical

system? | 1 91 Rieew 3@'%\33 ﬁl@@@g_l
TeIg ?

A : Steering system | IR RieeH

B : Charging system | TToNT RIkeH

C : Transmission system | E'F\‘:I'&I'Q'Hﬁ:lm
D

Suspension system | JuyH fer

60 : Which type of system is to isolate the
vehicle body from road shock and vibration? | DA

1 RIECH 9189 &1 AS & D! Ud HU= o
EHTQTIT?

A Control system | mﬁlm

B Suspension system | ﬂ@'—‘ﬂ:{ﬁl@
C Hydraulic system | E’IE@WW
D Steering system | I feq

61 : Which part of heavy vehicle deals with
static and dynamic loads without deflection or

distortion? | mﬁfﬂﬁwﬁ?w ‘J-H"T,TI'I%I'C[QH
fRR drs, fom fewiar ok feweRM &, # gfiid
FRATG ?

A EnginelgTrFf

B : Power trains | Wa:[
C : Control system | FId fcH
D : Chassisand frames | IR 3R B H

62 : Which way the steering system increase the
tire life? | TR Ried fd kg U TR Sitad
ﬁm%?

: By maintaining proper angle between tyres |
mﬁ%aﬂaﬁq@’rmaﬂw
B : Providing adequate lubrication |

TARAHTIR FelTop L T

C : By applying grease on the steering controls |

TGN fR0T( Controls ) H I 1M
D : Providing proper brake adjustment | Fl—tﬁw

U UG HAl

63 : Whatis the advantage of using power

s%teering system? | TR TR Ried &1 a1 oy
?

A : Toincrease the engine power | WW@

dell

B : Toreduce the fuel consumption | S\_!Ffﬁ

WU I HH DAl

C : Toenhance the fuel efficiency | W&IﬂTﬁ

gYURAT

D : To turnand control vehicle with less effort |

I &1 U Nfad © HigAT1 a fifd e

64 : Whatis the function of steering system? |
Eﬁuﬁﬂwn?ﬁmwao‘m‘% ?

: To control the braking system | ST oTTent
aﬁﬁtﬁam
B : Toincrease the engine RPM | ESE|
R.UL.TH. B FgMT
C : To guide the vehicle | dls"lfblf‘llis DRl
D : To control the fuel system | Wﬁﬁl@ﬁ
[BRIEGKZSII

65 : Whatis the role of ABS brakes? | Q.Eﬁ.w.
TP S ?
A : Provide positive braking | tﬁﬁlﬁaﬁﬁ’_ﬂ
Yl hAl
B : Increase frictional power | fhaRMq 2fad
ﬁaa:n

:  Prevents skidding of vehicles | a'lg:fﬁ
ﬁo‘ﬂ?ﬁ@f@lﬂ
D : Reduce the brake failures | S hd Bl
RADHT
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66 : Whatis the permitted range of pedal play

observed in the heavy vehicle? | Waﬁzﬁﬁﬁl@ﬂ

@ =T3S a% SrAfd § 2
A : 6-10mm

B 2-4mm

C : 15-18 mm

D 16 -20 mm

67 : Which type of drive line used in high gears
and high speed applications? | Bﬁﬁ'ﬂ?ﬁ@ﬁ
TS U7 &R & forT DI T UDHR b J18d a1z
&1 YA faT oTaT g ?

A : Front wheel drive line | TpC O_(ﬂ?f SIEENIER
B : Rear wheeldrive line | ROR &gd S18d @z
C : Allwheel drive line | ﬂlﬁ@aww

D Center wheel drive line | W@ﬂﬂw
S

68 : Which type of gear box can be operated

even by unskilled driver? | g UeR &1 e

gﬁmﬁ 3ifqof greaR g it v o & e
?

A : Synchromesh gear box | fa=piaY iR sl

B : Sliding mesh gear box | W%"TW@VW

Cv :  Constant mesh gear box | FHTICe IR

Elcy|
D : Compound wheel mesh gear box | PHITIUS

T A9 e STy

69 : Which type of synchromesh gear box will
produce torque more than three times of other
types? | b ¥ bR & Rich 1A= AR dfe o R
T iU 3T UHR & Clh BT ITG B2

A Baulk type | dch CI9U

B Baulk ring type | C AU KD

C Multi and Double cone | et 3R Sad B
D Porche type | @?fflgq

70 : Which type of synchromesh gear box used

for heavy commercial vehicles? | YR Ao
el & ot fo s TR o Rish i faR dfed 1
ST T ST 872

Baulk type | dech CIgU

Multi and double cone type | A 3R S

Baulk ring type | ac—m"ﬁnagcr

A
B :
CaE|
C
D Porche type | ﬁ?ﬁq

71 : Which type of gear will not produce axial
thrust but it neutralizes the axial thrust? | fg
THR & TR TfeRTdt IR 3= ] dxd IR
WWﬁ@T(Neutrahse)W%?

A Bevel gear | 9ad IR

B Herring bone gears | %ZT&"TW

C Spur gear | R R

D Worm gear | gd iR

72 . Which gear will produce clicking noise
during teeth contact? | frT yeR & R gud o
&nﬁé(cOntact)WWWW%?

A : Spurgear | TR

B : Bevelgear | 59d iR

C : Helical gear | gaiipd IR
D .

Worm gear | 31 IR

73 : Which part connects propeller shaft? |

IR TMUE § o HRTJ FHae gidT g ?

A : Clutch shaft and fly wheel | d¢Id RITUC 3R
ENIEE]

B : Gear box and final drive | TR 9T 3R
WIgd gltd

C : Cam shaft and clutch shaft | hWQ‘d
ENERL

D : Crankshaft and final drive | HDHITUC 3R

RZERNISIEE]

74 : Which part provides flexible connection and
permits smooth transfer of torque from gear box to

the rear axle? | ﬁ?m%w NEINICEEIERA
FHd1 8 3R R S I RR Ta » i ds &
FARE SR Y SIS ST 82

A : Universal joint | qﬁ#&aw

B Fly wheel Itl?ﬂ_st%c]ﬁ

C : Halfshaft | 8T% XUC

D : Clutch shaft | &g QITUC

75 : Whatis the necessity of square cut seals? |
WHIR He UId &1 7T HTTIH T 52

A : Prevent fluid leakage | staab\ﬂ CARICE
%ﬁﬁm

. Prevent the seal rolling in groove | g,afr
@aﬁ%ﬁﬁ%ﬁﬂ

C : Provide cushioning effect | @&ﬁﬂum
UG Hd §
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D : Withstand radial movement | mﬂﬁﬁ?
DT HHAT BRAT

76 : Whatis the possible reason for gear slip? |
TR &0 &1 Tralfebd HRUT AT EIAT S 2

A : Wrong selection gear shift lever | iR Roe
SHTaR T 7TeTd T ( Selection)

B : Excessive end float of gear | R @1
AP 3id Fle

C : Wrongclutch engagement | TTcId o<ld

D : Wornout clutch plate | 33T FoTd W

77 . Whatis the reason of gear locked in one
gear position? | ot iR FRufa | R dies &1
T HRUTGIAT g ?

A : Synchronizer wornout | ﬁl'_w'ﬁwm
SITAT

B : Gearteeth wornout | R & gid fog S
C : Synchronizing unit stuck | ﬁ%ﬁm?{ﬁ?
hT 3 ChAl

%:”: In adequate lubrication | ﬂﬁﬁaﬂﬁ:{q

. How to rectify the hard gear shifting? | E'I_St
WW@%@@WWW%
A : Lubricate the unit | qﬁzaﬁq@%ﬁ
B : Checkand realign | %Q‘dmﬁ
C : Adjust clutch pedal free play | dcid
Wwﬁ

: Re -install springs correctly | @"[ﬂﬁﬁ
aﬁamfﬁo—c'aﬁ

79 : What causes noisy gear box in neutral
position? | oo AT H R §Ter § Srarel
3T, TN BT T HRUI G ?

A : Synchronizing unit stuck | ﬁmﬁﬂwqﬁ?
CH TR

B : Bearing worn out or dry | fSaRT@RI@ a1

C : Synchronizer defective |W:IWW%

D : Synchronizer worn-out | o gy fetp
TREE

80 : What will be the result of defective clutch?
| GO geTdl T URUMH o g2

A : Noise in gear shifting | R Rftdr H TR
B : Gearslip | iR feg

C : Gearlocked in one gear | Wﬁlﬂ?ﬁﬁlﬂ?
iGN

D : Gear clash during shifting | W%W
R sfeaT

81 : Whatis the cause of hard gear shifting? |

Hfs R RIfféT SR BRI BIAT S 2

A : Bearing worn out | WW@W

B : Synchronizing unit damaged | @l'_cbﬁ:l'lsﬁm
gfic WRe

C : Synchronizing unit stuck | ﬁlﬁzﬂgﬁm
AT BT SThHHl

D : Flywheel ring wornout | W%ﬂﬁﬁ'ﬁm
il

82 : Which type of gear box eliminates the
defect of gear wheels move on the shaft to mesh
with each other? | fb¥ ThR T IR Sl AU
R TR &1 firdm aTd QY T gR Rl § ?

A : Sliding mesh gear box | “@rrs%ﬂﬁmﬁw
CIGx|

B : Synchromesh gear box | R iR ST
Cv . Constant mesh gear box | PO B R

o

D : Compound wheel mesh gear box | @H3US
TR Sl

83 : Why synchromesh action is needed in a
gear box? | Wa”mﬁﬁaﬁﬁmw
SRl 1 § ?

A : Provide noise in gear shifting | R fRrfgeT
H R UM B

B : Prevent cushioning effect during gear shifting
| STel TTfct H a8 §1 dl 3 R e

C : Easy gear shifting when vehicle in motion |

& T | argd 81 ) 3 R Rt

Damage the gear teeth during gear change |

N of W S e el
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84 : Whatisthe name of angle marked as ‘X" in

the camber? | RE R H SR & x garifIfRa
= frads qarT exfar g 2

A : Casterangle | BT W
B : King pininclination angle | ICRICE

C : Camberangle | %TQ" o
D : Included angle | $9cgS W

85 : Whatis the name of part marked as ‘X’ in

the electronic power steering? | ﬁﬁﬁ, 3@3@%
OTaR SRR H ‘X’ GaRT GRIY T4 BT R T g ?

CURRENT X
STEERING CONTROLLER ASSIET
TORQUE | | %I:l" TORQUE

Eﬂj

A : Motor | e

B : Assistmap | Q’@Eﬁq

C Compensator | '

D Observer | 3TeSiaR

86 : Whatis the name of component used in the
integral power steering? | ﬁﬂﬁ, ﬁqmw
R § 7T for T ofF 9T YT ST RT A ?

7

0
A : Flow control valve | tﬁﬁﬂ'@aw
B : Rotaryvalve | et ared

C : Unloading valve | NS aTed
D : Pressure relief valve | R RS area

87 : Whatis the name of component in the

integral power steering system? | ﬁﬁﬁ, 3'_Cj|‘|(_'|
OTaR RN &1 DI IATUF G 2

f
R,
e

Flow control valve | WH@EW
Unloading valve | SN aTed

Rotary valve | et ared
Pressure release valve | 3R Rfere areg

OO w >

88 : Whatis the name of part marked as ‘X’ in
the integral power steering in neutral condition? |

e ot H, 310 Uk RT3 gea | x
CIRT G ITY HRT R ATH G 2

RETURN OUT

PRESSURE N

A Lower cylinder | SICRERNIVEEY
B : Uppercylinder | 3R RYqve
C Valve sleeve | qled i
D Input shaft | §TYC RMUC

89 : Whatis the type of power steering? | GE

H, B Ul UBR BT UTaR T =T T g 2

€@ \| M| Question Bank

Page 12 of 66



Mechanic Motor Vehicle - 2 Year - Module 2 : Steering and Suspension System
Reviewed and updated on: 01t November 2019 Version 1.1

RETURN
PORT

A : Integral power steering | Eélﬂaw

Linkage power steering | fordot grar WA
Electronic power steering | @Tﬁsﬁlﬂﬁﬂ

Electrical power steering | T’Q_Q’Tm

:

B

Cc :
=T
D :
=

90 : Whatisthe type of leaf spring? | ﬁﬁff{,

5T TR &1 i BT ST Mg »

Quarter elliptical spring | Fafex $Q'1nl'~cnld'>c'l

B : Transverse spring | M@"T
C : Semielliptical spring | Wm@rﬂ
D Full elliptical spring | Ug_dm%m

91 : Whatis the type of leaf spring? | IGt= AT

H 5T YR &1 i BT =i | g 2

=

]
\/:
Transverse spring | E\'Iﬂﬁﬁ@'ﬁ

A

B Full elliptical spring | Ug_dg?ﬂ@?ﬁ‘[]%m
C : Quarter elliptical spring | aafas?ﬁﬁw
=i

D : Semielliptical spring | AT Zeiad BT

What is the type of leaf spring? | IGt=ACF|

T ﬁw%ﬁ@nﬁ%@mw%?

A : Semi elliptical spring | WW@T
B Quarter elliptical spring | aafevsﬁ‘rﬂw

Three elliptical spring | aﬂgaﬂta"laa@n
Transverse spring | M@"T

ol I

What is the type of suspension system? |

ﬁrq'fr P ypR &1 IO Ren g ?

A : Independent suspension system | g%ﬂr—é‘,?
ﬂ@mﬁw

: Conventional suspension system | UREIRNd
Wﬁﬂ%ﬂ
C : Airsuspension system | @TWW

D : Rubber spring suspension system | IR BT

JuYH feq

94 : Whatis the type of suspension system

spring? | ﬁﬁ[ﬁ, WWWWW%?

’M

A : Mono Ieafspringlﬁ?ﬂcﬁ@m
B

. Fiber composite spring | WPTSER hH][[SIC
=i
C
D

Multiple leaf spring | Heclgd o BT
Coil spring | Fara =T
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95 : Whatis the name of angle marked as ‘X’ in
the steering system?

| fo ¥, frd TR 1 RN & ‘X’ GaRT GRITE Y
YRTHT RS ?

—

~\e{\
— L

A Camber angle | WW
B : Castorangle | PR WA
C
D

Thurst angle | WQ‘ d
Included angle | Eﬁﬁ%@? W

96 : Whatisthe recommended valve of
combined angle in the steering system? | R
R & s &t FuiRa g &g ?

A : 5-8

B : 9-10°

C 12 -15°

D 15-18°

97 : Whatisthe name of angle marked as ‘X’? |

RF T x GaRT YT MU B BT R T @ ?

Combined angle | W’IE_S'QTI?T
Camber angle | WQ”W
Castor angle | TR TTA
Thrust angle | 3¢ T

o606 w >

98 : Whatis the steering linkage ratio if the
pitman arm length twice of steering arm length? |

g fredq o ot s Whafia omd &t owarg |
arqoft 8 t Tl ferdet SrquTd R graT | 2

OO w>»
N P NNDN
WwN s

99 : Whatisthe average power steering gear
ratio followed in general? | MR UTaR
Wafi iR o Sfad R gare »
A : 40% less than manual steering | ﬁ?@ﬁ
TR 40% HH
B : Equalto manual steering | WW’[%
ERERS
C : 20% less than manual steering | ﬁﬂ?ﬁf
TR 20% HH

10% more than manual steering | ﬁ:ﬁﬁ

T 200 D

100 : Whatisthe range of steering ratio

available in general? | Gﬂﬂ?ﬁ?ﬂ?mw
P A BT g ?

A : 8:2t022:28:222:2

B : 11:2t022:2]11:2922:2

C : 11:1to24:1[11:18¥24:1

D : 10:1t018:1[10:1¥18:1

101 : Whatisthe name of angle marked as ‘X’?

| R x SaRT ST T ST BT RTAHG ?

i
Camber angle | WW
Castor angle | TRCR WA
King pin inclination | ﬁﬂTﬁ:fg:la?ﬂﬁ'Qﬂ
Included angle | W@Q"WT

102 : Whatisthe name of angle influence the

wheel alignement? | ﬁlﬁﬁ,@ﬁﬁﬂﬁ@?%qﬂ-ﬂa
ARTTTAR ?

OO w >
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A : Camberangle | PR W
B : King pin Inclination angle| fhfom

C : Castorangle | PRI WA

D : Incluedangle | ETW'@%_S' T

103 : Whatisthe name of part marked as ‘X’ in
the suspension system? | ICER: RGN GQIiQ R
T Red B URT HTRIAH G ?

A : Chassis frame | aﬁlﬂﬁﬁq
B : Helper spring | SR &
C Rubber buffer | YaX TABY
D Brackets | sfdey

104 : Whatis the type of independent
suspension system? | A | g TR &1
gt GTH Reeq 3 2

A Torsion bar suspension | T gR GYH
B : Struttype suspension | E‘c"c’@ﬁﬁ?ﬂ

C Air type suspension | WE@W

D Coil spring suspension | FaTad BT qeH

105 : Whatisthe name of part marked as ‘X’ in
the coil spring suspension? | 3 A gargd f&i
RRed & ‘' RT GRIMY TW UF T HT RTAH G ?

Torsion bar | T IR

Stabiliser bar | QQFIFIIQGREI'R
Control arm | W@ﬁ\?ﬂﬁ

Coil spring | Farad BT

OO w >

106 : What s the type of suspension? | ﬁﬁ[ﬁ,

5T TR o7 I Red g 2

A Coil spring suspension | Farad BT g
B : Torsion bar suspension | eI IR GYH
C Rubber spring suspension | &R =i gwEE
D Strut type suspension | E\E’E@W

107 : Whatis the type of suspension? | fog

TR &1 (ol ) T Rieea @ 2

A Strut type suspension | E\EE’@W

B : Coil spring suspension | FaTd fORT S eH
C Torsion bar suspension | TR TR WY
D Rubber spring suspension | &R T

-~
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108 : Whatisthe name of part marked as X’ in
the tub tyre? | R &, TR B x’ SITQT 7T YT T
g?

A Tube | Cgd
B Steel beeds | Wadiea
C Tread | SIS
D Tyre | CIAR
109 : Whatis the name of shock absorber?
| R ® 5T UeR o1 Ui Tasllar g ?
@&

A . Gas pressurised shock absorber | eS|
ammw”mmfa?

. Electronic adjustable shock absorber |
sﬁaﬁ%m@wwmﬁ:

C : Hydraulic shock absorber | BE@WQT\I?

D : Load adjustable shock absorber | s
N \J C
Jouitcdd R Tosf[eR

110 : Whatis the type of shock absorber? | IGE

T, g UPR Ul TsoliaR g ?

T—]

=

A : Gas pressurised shock absorbe | ﬁﬂ
URRIZSE M TsaliaR
B : Mechanical type shock absorber | Aohiopd
G ELRICRUESIR
C : Telescopic type shock absorber |

clgu -QIIGb k&SHGN
D : Piston type shock absorber | fﬁR:fET{q

(3

RN

111 : Whatis the type of shock absorber? | CE

T, 5T UhR P71 T TsalleR g ?

AT

Vane type | é‘—r‘c’r{cr

Piston type | ﬁIE:[EE'q
Telescopic type | ?:’f%mﬁ%agq
Mechanical type | n%ﬁwagtr

OO W >

112 : Whatis the name of part marked as ‘X’ in

air suspension system? | meﬁﬁﬁ
¥ x IR ST TT YR T8 2
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A Air bag | qu?éwr

B Height control valve | 3<d g ared
C Vehicle frame | %ﬂaﬂaﬁf

D Axle | TR

113 : Whatis the maximum air pressure

supplied by the compressor in the air suspension

system? | TOR TORM ReH § HHITR &I
fHdH TR IR fHa1g ?
. 100 to 115 PSI | 100 ¥ 115 PSI

180 to 210 PSI | 180 210 PS

120 to 125 PSI | 120 ¥ 125 PSI

200 to 215 PSI | 200 T 215 PS|

OO w >

114 : Whatis the name of part marked as ‘X’ in

the suspension system? | oz ¥ IizE Rieer |
X' AR GRITY TTY UTE BT AH R G ?
- X

Tracking bar | E%rraw

Upper control rod | WHO_'@F[TT_S'
Shock absorber | WW

Axle mounting bracket | WWT

115 : What s the type of suspension? | ICEE:]

S ITIWIAE ?

A : Air suspension rear axle | WWW
J

B : Coil spring rear suspension | ¢dldd

- A

C : Front air spring suspension | W@Tf@m
-

D : Rigid axle suspension system | RIoTS feaaa
e R

116 : Whatisthe name of part marked as ‘X’ in
the front air spring suspension? | ﬁﬁﬁw
GYE Red & x gRT SITar T URT R g »

Air Spring valve | @Tf@m?ﬂc'_d
Lower control arm | Fﬁtﬂm 3T
Piston | e

Spring attaching clip | @I‘T@T‘ﬁﬂ?ﬂq

OO w >

117 : What s the type of suspension system? |

o & {5 YR 1 ST Riew g 2

€@ \| M| Question Bank

Page 17 of 66



Mechanic Motor Vehicle - 2 Year - Module 2 : Steering and Suspension System
Reviewed and updated on: 01t November 2019 Version 1.1

A : Rigid axle suspension system | ﬁf?srgqa&qa
Y ey

B : Adaptive air suspension system | W\_ﬂ'ﬁ
Il TR Y8R Reen

C : Independent suspension system | E%Q%'_C’
HeYH ey

D : Coil spring suspension system | garad BT

oy fRen

118 : Whatisthe name of part marked as ‘X’ in

the wheel rim? | ICER:] oId o d Uy P& grRI
oo TR 2

A VaIvestemI?ﬂc'_d@'q
B : Wheelhub | BIdEd
C
D

Pressure sensor | GdId

Beading edge | @%‘TQ\_ST

119 : Whatis the aspect ratio in the tyre
structure? | TR §-1dC H TWde IR FATEIATE ?
A : Percentage rartio of tyre height to Rim width

| TR B s 3R A &1 AeTs &1 ufawe
&a'crm

:  Ratio between tyre height to tyre dia | IR
%@wﬂa 3R SIS & & T 3UTd
C : Percentage ratio of tyre height to tyre width

| TR & ASTS 3R ST &b did BT ufa<rd
U

D : Ratio between tyre width to Rim width | 58|

! dISTs Ud CRR &1 AIST8 &1 30T

120 : How the tyre height is calculated? | CRIR
@1 SHATs BI TUHT Y B STl g ?
A : Rimdia-tyre outer dia | 9 o1 graHieR -
mwaﬁﬂtﬂaﬁr‘a

: Tyre outer dia - Rim dia IWWW
—sram‘ia 7 &1 SR
C : Thread width + Tyre width | ﬂ@:ﬁ%ﬁ@gﬂ
TRR &1 ST8
D : Tyrewidth + Bead circle dia | E’Wﬁiﬁ@%
+ S BT SIHICR

121 : Which part of tyre referred as ‘Crown’? |
TR &1 BHI TN YT AT BT Tl BT g 2

A : Thread width | a@’aﬁiﬁ@g

B : Rim width | ﬁﬂﬁiﬁ@_g

C : Tyrewidth | Wﬁiﬁ@_g

D : Threadradious | 98 I fsag

122 : Whatis the name of distance between

most protruding portions on both sides of tyre? |
CRR $1 G Ja8 S8 el & ol b1 g 1
TG ?

A : Tyre outer diameter | s Bt t?lx‘_élé
B Tyre height | S Tidl BT SAHER

C : Tyrewidth | Wﬁﬁ@ﬂg

D Thread radious | IS PI AT

123 : What does the no: 14PR denotes in the
tyre specification 9” x 14 - 14PR? | TR & faxiy o~
x 14 - 14 PRH 14 PR TR P! gifarg »

A : Shoulder width | TceSR B ASTS

B : Beadcircledia | S A BT SR

C : Plyrating | Wﬂgﬁ'f

D : Tyre thickness | mﬁ?ﬁ@é

124 : How the tyre is specified? | TR &1 qui
Y fparomarg 2

A : Shoulder width, Boad circle dia. Ply rating |
Mee B AT AT M SRR wrs et

B : Shoulder dia, Bead circle dia, Ply rating |
Mee] B STTHICR 18 B! e SHTER WTs T
C : Shoulder width, Tyre thickness | Qﬂ?&'ﬂﬁ

YISs CRR B A8

D : Plyrating, tyre inner circle dia, shoulder

width | TS ST TRR BT 3 M SHER
s Bl ASTS
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125 : Whatis the name of part marked as X’ in
the cast wheel? | ﬁﬁf{, W%ﬂﬂﬁ X' QdIR
AT T YT ST RTAH g ?

A

B

C

D

126 : Whatis the name of part marked as ‘X’ in

the flat type rim? | ﬁﬁ[ﬁ, W?@ﬁqﬁ X' QdIRT
TCYRT R AT G ?

A Centre position | s ot fRufa

B Plain split lock ring | A faufere dfe T

C Rim projection | T geTu (projection)

D Rim outer edge | X &1 916 fg =

127 : Which type of wheel consist two separate
discs are clamped together? | WW$U'%Q
(Wheel) T & 3{THT-31CT [$3h U gaik & A1 S|

gl E ?

A Split wheel | f@lﬁ‘l‘d%ﬂﬁ
B : Wirewheel | EITCITO_GWFT
C Disc wheel | %WO_@FT
D Heavy vehicle | ‘J-ImO_Eﬁ?I

128 : Whatisthe type of wheel? | e fom ﬁ,
EN Q
PHH TPR BT R g ?

Disc wheel | %Wo_ﬁﬂﬁ

Split wheel | f@lﬁlﬁ’@ﬁ

Heavy vehicle wheel | YR dTe- Geld
Wire wheel | TR BId

OO w >

129 : Whatisthe type of wheel? | ﬁﬁ[f{, D

A Wire wheel | W@T’l

B Disc wheel | %WO_@T’[

C Split wheel | fufere ssta

D Heavy vehicle wheel | WWO_E:F]E
130 : Whatis the servicing procedure carried

out in the wheel? | ﬁmﬁlﬂﬁ,@ﬁﬁﬁmw
P o fafig?

A : Checking camber angle | %mﬂﬁmﬁ%
D[
B : Checking castor angle | PR DIV B dPb
2L
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: Checking kingpin inclination | fhfuA
Mﬁmaﬁ%m

D : Checkingincluded angle | WW@
AP BT

131 : Which advantage does not suit to wheel

%ig_r[]gent? | DI I A i TaTsHe J I g
?

A : Minimise tyre wear | TR & forgTde &l &9

HIAT

B : Reduce driver effort | grs“a?ﬁwl%m

DT/ YTl

C : Achieve self centering after turning | Iﬁ@ﬁ%

URATd TR &g g8 § U1 Al

D : Achieve easy torque transmission | GﬂﬂFﬂ

T ¢l IR U 3

132 : Which part of electronic power steering
revert back to manual steering in case of failure in

power steering? | ‘iad@ﬁd? qTaR TR BT B 1A
1 UTE, ITaR TR Bhdl/ AR B IR 39 A-ad
T H uftafda #R el g 2

A : Solenoidvalve | @Fﬁm@iw

B : Phase compensator | WW
C
D

Fail safe relay | ol 9% Na
Current controller | BT (HTA®

133 : Which device in electronic power steering
converts the steering torque input and its direction
in to voltage signals? | sadg?li?1d> qTaR TR &t
ﬁ?@%ﬁﬁﬂﬁuﬁnﬁﬁwﬁ 3R fe=m
aﬁ dlecSl § Al g ?

A : Rotation sensor | YT IRR

B : Torque sensor | TP A]R

C : Hall effect sensor | 3TYT THTAT TRR

D : Temperature sensor | ATHH I=RR

134 : What s the advantage of electronic power
steering? | WWWWWWH%?
A . Compact in size | T3l H Hfem

. Energy being consumed only while steering |
m DI TR & A TR T Bl
C : Lessocupation of space | HH Y ORAT
D : Number of components are less | ey &1
=T B Bl

135 : Which steering system will provide
assistance even when the engine is not running? |

5T UpR &1 W Red, 519 b 3o ol
IAdT, eI gl Rl g ?
A : Integral power steering | 3%‘ T UTaR

B : Linkage power steering | INCASACIEH

C : Electronic power steering | sﬁaejﬁ$w
R
D : Manualsteering | ﬁw@uﬁﬂ

136 : Which part of integral power steering

reduce fluid pressure? | WWWW
I A1 U 59 Ga1d B HH Pl 62

A Torsion bar | ARTT IR

B Rotary valve | et e

C Unloading valve | SFANST dTed

D Flow control valve | u%ﬁao?ﬁaw

137 : What s the role of recirculating balls in
the integral power steering? | 3T Tifad T
A 7el B R A gavgT e H a1 YfirehT g2

A . Affect steering stability | Wi fRRar 31
TIfdd BRaT e

B : Prevent control in event of hydraulic failure |
grRslfe fawaar &t fufa & Frdzo &1 A

C : Combine high mechanical efficiency with

smooth operation | IECRIREINEE R PR
gifAeh qefc T fyor

D : Provide hard steering | PSR TR &M
B

138 : Which is the heart of integral power

steering system? | A TR g Red &1
& fpd Ped e ?

Flow control valve | w‘rﬁaw

Rotary control valve | HWW
Pressure relief valve | TR e area
Unloading valves | SIS aled

OO W >

139 : Which is not the benefit of power
steering? | ﬁWWWW?ﬂ”ﬁ%?

A : Effort less steering | Y Mfad T arar
R

B : Quick response | SEARGIER]

C : Absolute control during driving | 31'5%"[%
HHY Udeh] (Ag=01

D : Positive breaking system | HRIHD STHT
Rreew
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140 : Which type of suspension spring can not
transfer wheel guidence forces? | fPa R &1
TR BT gid =01 9 &1 S w8l B
qHAT G ?

A Helical springs | %ﬁﬂ?—d@'ﬂ

B Coil springs | garad BT

C Leaf springs | o [T

D Compression springs | SR BT

141 : Whatis the advantage of coil spring? |
T AT BT R AL R 2

A : Good load carrying capacity | NI YR dgd
&Hdl

B : High steering and stability | I TR 3R
R

C : Low space requirement | HH R B
HARGhdl

D : Provide greater pay load | 3fIH T 3w
da HR UGH Y

142 : Which type of suspension spring made of
fibre glass, laminated and bonded together by
tough polyster resins? | 59 UHR &1 IWrH
&I, BRER N, dffAics amar duT gai
TferReR IR CaRT BoR fPaT g 2

A Coil springs | garad BT

B : Multiple leaf springs | W@ﬁ%?ﬁcﬁw
C Monoleaf springs | A o =T

D Fiber composite springs | W%Eﬁ@ﬂ

143 : Which type of spring will have good load
carrying capacity and do not have noise in the

suspension system? | fPaUeR & RN ds
& 31 Bl & T TR Ried # Simaret
T PTG ?

A Monoleaf springs | A A% =BT

B : Coil spring | Farad [T

C Multiple - leaf spring | Ao o BT

D Fibre composite springs | WQ@H@I‘T

144 : Which system provided between axles and

chassis frame? | T AR IR A & SR
ToTTelt (ReH) TRinT fan e g 2

A : Braking system | ST Red

B : Suspension system | T Reeq

C Steering system | Wl Rieeq

D Cooling system | Wﬁl@

145 : Whichis not the function of suspension

system? | ﬁqumﬁmﬁ%?
A : It maintains body level | S8l dad &I A
HAT ]
B : Itgives cushioning effects | WHWW
W%

: It transfer braking torque to the chassis | g
Wﬁﬁ%ﬁmw VI §

It increase steering stability | TR

SRR 2

146 : Why light weight cars use low steering
ratio? | eb! goi dTall BRI H S KRR 3UTd
I g forar STTaT g 2

A : To obtain low steering effect | HH TN
THTd YTt b o felw

B : To obtain large steering effect | 3IH
IR gUTd YT A & ferg

C : To obtain constant steering effect | R
IR gUTd YT R & ferg

D : To obtain no steering effect | a'ﬁ_stﬁtlﬂ"’[
THTd UTtd b o felw

147 : Which angle helps in self centering of
wheels after negotiating a turn? | %%W’Iﬁ
KR &1 g o & o &1 fobar o fag s
S0 fEAT AT 2

A : Castorangle | PR WA

B King pin inclination | %rrﬁﬁrs?ﬁﬁﬁ‘m
C : Camberangle | %@RQTI?T
D

Included angle | Eﬁﬁ%ﬂ e

148 : What s the purpose of castor in wheel
alignment? | GId TATSH< H B BT 51 A
8?

: Maintain directional stability and control |
%mmi%%ﬁ?ﬁ R FEfa He

B : Reducetyre wear | TRR fogTae &l HH
HIAT

C : Reduce abnormal vibration | LB

ST P UM
D : Convert steering torque input into voltage
signal

| SRR Tldh I STYC dlees] Ri-d | dqar!

149 : Whatisthe advantage of using non
reactive suspension arrangement on multi-axle
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vehicles? | Aed]-TaHd dTg- R TR ufafspamsiia
ﬁﬁmwmaﬂnmﬁwwm%

. Good braking efficiency in both rear wheels |
aﬁrﬁwq%ﬁrfr 3{ws] ST Gefdl
B : Betterriding comfort | WW AHRTH
C : Increased spring life | f@ﬂmﬁq@
D : Prevention of ratting | IET B AHUH

150 : Which type of independent suspension
system simple in construction and allow more
deflection of the front wheel without effect on the
steering? | g UeR o1 Wda Adeq Rer
fmtor o TRa § SR TR R yurg & fom g
& rﬂ%ﬁ & 3t faauur ot Sl AT 8?

A Torsion bar suspension | TR IR Fded
B : Struttype suspension | E_C’E'ngﬁﬂa:[

C : Coil spring suspension | CAR AT AR NER]
D : Conventional suspension | Gb"la'ﬁilﬂﬂ ERER

151 : Which part of coil spring allows angular
movement of linkages? | Farad fBRT T 1= I
YT WER i fofarel &l UgH HRal g ?

A : Balljoint | §Td SdTlgc

B : Stabiliser bar | @TSI?IBTSR

C Torsion bar | CRIT IR

D Lower control arm | Fﬁﬁ?@ﬂ 3

152 : Which type of spring suspension responds
quickly to road shocks? | g ueR &1 BT

T TS QTR ) agd Sec @i @ 2

A Compression spring | SR T

B : Coil spring | Farad BT

C Helical spring | %W@"T

D Transverse spring | M@"T

153 : Which type of shock absorber maintain
vehicle ride at a pre - set level according to the load

placed over the rear axle? | {9 PR &1 Qi
UssITeR AT &1 I & forg Ugd Al ddd IR
S @I ?

A : Gas pressurised shock absorber | a:fflg'q

B : Hydraulic shock absorber | ﬁWE’I’%’q

C : Automatic load adjustable shock absorber |

b ewd sy
D : Mechanical shock absorber | ferifte

154 : What is the effect of weak suspension? |

FHUR T RRCA HTRTIHG S ?

A : Directional unstability of vehicle | IFLUREED
ST

B : Carrying excessive payload of vehicle | dlgd
R WS 3ifie g

C : Unequal weight distribution of weight | dlg-

TR HM EY F HR &I diel
Vibration damping is more effective |

ansémﬁ 3P THTET BT

155 : Which type of shock absorber is easy for
replacement and handling?

| ford UBR & WTeh TSR FGaT 3R gfoerT
HAT MBS § ?

A : Vanetype | aqzléq

B Piston type | ﬁﬁ?l"fq

C : Mechanical type | ﬂ%ﬁﬁﬂgﬁ

D Telescopic type | Wﬂgﬂ

156 : Which type of shock absorber absorbs
shocks with the help of friction disc and spring? |

3 TR & Wb Teotiar DharM fewa 3R fBi
! T Y e BT TqH [BAT A6 6 ?

A : Hydraulic type | EWE'@

B Electrical type | sﬁazﬁao—daéq

C : Mechanical type | n%ﬁao—cra‘%q

D Pneumatic type | JHIC® TI8U

157 : Which device in the air suspension system
observe vibration of low amplitude and high
frequency? | ATg FTE TUTTER & I AT SUBRUT
HH AT 3R I AR P HU BT e
FRAT B?

A : Shock absorber | Rl

B : Suspension spring | e BT

C : Airbagsinthe system | ﬁwﬁwén

D : Leafspring | o =BT

158 : Where the airbags are located in the air
suspension system? | Wwwff@?aﬂ
HEI MBS ?

A : Betweeen frame and vehicle axle | Y 3R

& GIhd Uadd & S A

Between high control valve and frame | 3=d

e SR o

C : Between air pressure regulator and front

axle | WWW@TWW?T%W
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Between brake tank and vehicle axle | W

EP i

159 : Whatis the purpose of air suspension? |

TR G RReH BT RT3 § ?

A : Used for leveling purpose | mﬁm
YTt hRAT

B : Reduce the suspension weight | JWYH HR
DI HY HRAT

C : Increase the directional stability | IFRUREED
=01 1 I&TT

D : Reduce the space ocupation | NUIEKIN]
S8 B HH DAl

160 : Whatisthe disadvantage of independent

suspension system? | W@TC’WW
&I g g ?

A : More maintanance cost | Q@G HIEd
3ifere 8

B : Vibration damping is less effective | angawr
ST B3 guTaRITed ST

C : Shocks transmitted from one wheel to other
| Mo U TR ¥ GER Ul TR RIFTARA BT

D : Spring weightis more | Ry asH w1 HH

B

161 : Whatisthe advantage of using
independent suspension system? |

T Ry & TR TR Ay R 2

A : Thisis simple arrangement | gg IR
PEPEES

B : Shocks are transmitted from one wheel to

$r|wﬁqu%uﬁmq%uwamﬂﬁ

C : Spring weight s less | WWWW@W
D : Maintance cost is less | Q@G HEd HH

il

162 : Whatisthe disadvantage of rigid axle

;Jrg;%wsion system? | WWWﬁW
?

A : Spring weight s less | WTWWW@HT

®

B : Vibration damping is less effective | fﬂga?l:l

SR B yHTRTed g

C : Thisis acomplicated arrangement | Jg Udy

SgdSea

:  Maintanance cost is more | @@ HEd
aﬂ‘?m%

163 : Whatis the advantage of using nitrogen in
the tyres? | Mﬁ?@W%%WWW
AHE?

A : Provide positive road grip | WWFI%)[
Jh G U G

B : Increase the tyre life | mﬁmm
C : Provide cusioning effect on the vehicle |

aTe H PR THTE TaT AT

D : Oberve shocks and vibration | T 3R

B B T

164 : What s the use of compact spare tyres? |
BIC AT TR BIRTATH G ?

A : Used for breakdown | @%Wmﬂ
[ERIIGIE

B : Used for high altitude | WGEH%%]%‘TQ
I fhar ST g

C : Withstand heavy load | lﬂﬂ?ﬁgﬁm

D : Withstand high temperature | 3= dgq= A
el

165 : Which rating indicate the braking
capablities of the tire to the consumer? | Wﬁ

TG DI ST G&IdT ST DI SR & 2
A Ply rating | 1?”’5;%%"[

B : Tyrerating | TRR 3T

C Traction rating | éﬂ?ﬁﬁﬂ

D Temperature rating | GICEIERR

166 : Whatisthe advantage of using run flat
tyres? | TTTRIC CRR TN & RTATH G ?

A : Less cost and maintance | @ H dlld 3R
RWRYd

B : Eliminate head for spare tyre and jack | CIaX

3R Sh P IT D1 SIS TdH D]
C : Resist vibration | aﬁﬁmuﬁlﬁu

D : Provide equal distribution of load | SRTaX

WIS &1 faavur

167 : What will effect in case of over inflated
tyres? | 3P GAT B BT TRR W FATTHE § ?
A : Tyre will wearout at centre | TR
o

B : Tyre will wear out at edges | TR d18%1
g 9 fere
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C : Tyre will crack at edges | QTTT@ CRR b
D : Tyre will crack at centre | CRR CEREEY

il

168 : Whatisthe purpose of beads and plys

provided in the tyre? | TRR H 5T ﬁ?mﬁﬁ
FTICRI g ?

A : Provide strength to tyre | mﬁm@rcﬁ

Uald dAT

B : Provide grippness on the surface | WHY R

U g dATE RGN

C : Preventtyreslip | TR U T g9

D : Resistvibration | a@mﬂmuﬁfrﬂ

169 : Whatisthe function of Rim in the wheel
construction? | A8 H sglebd a-1de 8 R BT
3G ?

A : Support the axle | Wﬁ@%‘m

B : Provides balancing of vehicle | Wﬁ
ST TG BT

C : Holdsthe tyre in correct position | TR &1
el Rufa e g

D : Distribute the load equally | ?«h‘s'mw

e g

170 : What s the purpose of spokes provided in
the wheel? | BIHT H WY HTFATATH @ ?

A . Provide accurate rounds of rim | A ®
SERRINIEFHMREZSI

%:r:[ Distribute pre load evenly | Eﬁ?ﬁgmﬁm
C : Provide directional stability of vehicle | dlg+
! fa=TTare FRRRAT UaH &1

D : Suportthe chassis frame of vehicle | an%:r%

ARG T &Y WIE BT

171 : Where the tyre pressure sensor secured in
the wheel assembly? | %ﬁa@mﬁ’rﬁwﬁm
=R FHEf R farsmar g »

A : Securedinthe wheel hub | O_GWWEH'E[
BINEREEN

B : Secured inthe tyre outer edges | TR &
a1g< U & gRfda g

%:r:r Bolted to metal valve | Hed dlcd § dfees

D : Bolted to the rim centre | R F ST e-
Siee I SheT

172 : When the driver is warned of difference in
tyre pressure? | TS TP BT TR & <a1d H 3R
CIERICEIRARTIGI N
A : Difference in pressure exceeds 30% | E{aﬂﬁ
Gi?R 30% 9 3AfYF §

: Difference in pressure more than 10% | qdId
ﬁ 3R 10% ¥ 31fIFH §
C : Difference in pressure more than 20% | adId
T 3R 20% T 3HTAF §
D : Difference in pressure exceeds 40% | Tard H

3R 40% T 3D §

173 : What will be the effect of negative camber

excessive in the wheel alignment? | %Wfl Ud srfl?
. a
o SHIHAY Ffeqd HIR BT RTYUE G ?

A : Outer edge of tyre wearout faster | CIUR I
8%l TS Seat forgT
B : Centreof tyre wearout faster | CIIR d HY
@‘\’ﬁﬂmﬂ

: Inner edge of tyre wear out faster | CIIX &
&Rwﬁwwﬁam
D : Cracks developed in the tyre tread | CIUR

1S H sheb Ual gIT

174 : Whatis the disadvantage of excessive

positive camber in the wheel aslignment? | @ﬁﬁ

%ﬂﬁ‘rﬁr—c’ﬁlﬂﬁrﬁaw 3{fH g B 1 1Al
2

A : Tyre outer edge will wearout fast | RG]

3D Seg! oG

B : Tyre centre will wearout | CIOX [ HH

[I2RE]]

C : Tyre bleeding wire wear out | TR AIfST IR

&1 o

D : Tyrethread wearout | CRIR S P =T

175 : How to rectify the defect of noise in

hydraulic steering? | TR H R 3 3T &
Y Bl Y SIF fHaToTar g ?

A : Replace the with new fluid | q@gﬁ?&
o & 1Y FEa

B : Fill fluid to correct level and bleed the
system | TS I 841 B! AT 3R Tegs Add
PRI HRAT

C : Adjust the torsion bar linkage | TRIT SR
feich sl bl TEOIRe A
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D : Replace the flow control valve |Wm
dled I Saar

176 : What s the cause of noise in steering? |
TR H 1Al T T HRUTE ?

A : Highfluid level | Teg8 ddd 3=

B : Presence of air in the fluid |tl@|§f[67ﬂﬁ
Suikdt

C : Defective flow control valve | WIS Tl
ERAREI

D : Defective torsion bar | TRYA IR &I BRI

177 : Why vibration damper are not used inside

the helical spring? | %%W@ﬁﬁa@mém?
T TN ! fHaT ST g ?

A : Possibility of stuck in one position | Teh R
TR SITH B &1 GrHTaAT

B : Noteconomical | ﬁ's‘n%m's‘:@

C : Fitting and removing time consuming |

HA1 UG WIS BT 3 W Bl

D : No effect onload carrying capacity | s

gTelt HURICH BT DIg UHTT T BT

178 : Whatis the impact of larger scrub
radious? | SHTIP Tha ST BT FT THTI BT § ?
:  Wear on the outer edge of tyre | TR &

mwwmm

B : Unequal braking on the front wheel | M &
Ufgdl & S s

C : Wearon the centre part of tyre | CRIR H
HRT H ferrae T

D : Bending of steering linkage point | Wl
fefool W@rge R Sy

179 : What will be the effect of negative scrub

radious? | THITCd Bhe ST HT T UG BIAT S ?
A : Wheelis caused to toe - out | tl%tﬂffﬁ
sﬂtﬁ:’@Tﬂ

: Wheel is kept in straight position | 1iﬁ%??ﬂ
?ﬁ%ﬁ e (FRufa) A =rem
C : The tyre centre portion wear out | CIOX DT
weg YT H forgrac gt
I—;ﬁ—q—; Wheel is caused to toe - in | tn%mfre‘r-s—rr

180 : What causes abnormal tyre wear, tyre slip
and poor steering stability? | CIOX P! fordrae eR
&1 U, SR HHSIR W AR fRRRT & 1 HROT

BT ?
A : Incorrect toe - in and toe - out | Gﬁﬁlﬁa
7 3R T- 3¢
B : Malfunctioning of torsion bar | TRIT IR H
@Tﬁﬁ

: Presence of air in the break fluid | WW
ﬁemaﬁsqf@raﬁ
D : Frontaxle bend/twist | WWWW
14 e g

181 : What will be effect of unequal castor in

the vehicle? | T8 H 3RTHH BRI b FTUHE §
?

A : Vehicle pull to one side wheel | dIg- dTTh
ufedl U qRb PR
B : Vehicle will not move | Wﬁﬂ@"ﬂ

C : Driver have to use less effort on steering |

TR & AR R &1 i @ gift
D : Increase steering stability | AR R
CEU

182 : Why rubber buffer is provided in the main
spring of suspension system? | JUIA Red &
A BT o g I fear smar g 2
A : Transfer pay load smoothly | Fh_s'WTﬂﬁ
Rﬂﬂﬁhﬁ%‘rw%

. Protect chassis frame from heavy jerk |
%ﬁma@sﬁaﬁﬁﬁﬁa?%ﬁ
C : Transfer the load equaly | YR B IR I
SRR RFIAR BT
D : Provide steering control stability | af

T U e &

183 : Which facor affecting suspension? | P
1 T G BT YU BRaT & 2

A : Damaged chassis frame | WIS IR T
B : Wornout spring | ﬁwganf@m

C : More shocks, uncomfortable riding | 3
Zedh U4 3RYfIUTSHD T (riding)

D : Abnormaltyre wear | HHH CRIR

184 : Whatis the type of defect? | ﬁﬁﬁ, fog
TPR BTG G ?
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Cracked treads | @EW%@W
Wear on the centre | aﬁﬂ@mﬁ?@:ﬂ
Feather edge | WS fhAR

Bold spots wear | 9Tth ¢ fergrae

OO w >

185 : Whatis the type of deffect in the tyre? |

I H R A TP I UPR BIEN g ?

3y

A : Bold spots wear | 9% Y& forgTae

B Rapid wear at centre | aﬂa@rmslq
C Feather edge | WS fhaR

D Wear on oneside | T aR® ¥ fugrae
186 : Whatisthe main cause for wear on one

side of tyre? | W%WW@WWH@
BRUTTR ?

A : Improper camber | &Iﬁﬁﬁw

B : Improper caster | &rﬁaw

C : Overinflation | WWW

D Under inflation | H gdl qdld

187 : What s the reason of faster wear out of
tyre edges? | TR & fHAR] o1 2ty form w1
HRUTG ?

A Under inflated tyre | ®H ¢dld UX gdl

B : Overinflated tyre | 3% garg W gar

C Un equal load distribution | 3THHI HRR
EREIN

D : Defective suspension system | JoYH

Ren IE g

188 : Why the alternator spokes are screwed to
slope forward and backward towards the rim in the

wire wheel? | W@waﬁw%’raﬁﬁﬂ
DI 3R 3T 3R RS B 3R e o forg ot
TRTS T Sia 82

A : To take the uneven load | IHH AIS T &

fer

B : To provide cusioning effect | T YHTd

uaqmﬁ%ﬁm

: To observe braking and driving torque |
Wﬁg@ﬁﬂﬁmﬁﬂmm

. To distribute the load evanly | YR P! faaid
mﬁ%ﬁﬂz

189 : Whatis the cause of “Poor self centering”
in a vehicle? | Wﬁ@nﬁn%maﬁaﬁ&nﬁ(
Self Centering)ﬁﬂ%WW%?

A : Filter chocked | e d1dg AT

B : Improper wheelalignment | O_éFTQ?ﬂgEI'_C'
BT SIB T

C : Loose wheel level | F@ﬁﬁﬁﬂﬁﬁm

D : Lowoillevel | 3T TR B HHT

190 : What will be the result of improper brake

adjustment? | @WWWWW
aRoTE BRI 2

A Hard steering | FOR TN

B : Wheel wobbling | S8Idl &I AITaHT (Wobbling)
C Steering wheel play | Eﬁqﬁ"'fo_'{ﬁﬂ

D Vehicle pulling to one side | dTg- &1 TdhH
RG Wi

191 : Whatis the reason of steering wheel play

%xcess? | LR B &1 3B BT HRUT T

?

A : Improper pre load defective steering |
3afd Ugd ArS 3R WRIE WA

B : Lowoil level | &WWWW

C : Dropin pressure | <919 # fiR1ae

D : Wornout sealing rings | fafei 79 &1 @Rre

il

192 : What s the cause of “Wheel wobbling”? |
o6 <1 o[l o T CPI'{UI%?
A : Improper tyre pressure | € q?ﬁﬂ%ﬁ?ﬂ?
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King pin wornout | &1 O T @R1e Sl
Drop in pressure | SR &1 R

B .
C
D Wrong hose size | WXId Rafei e

193 : Why tyre wear found abnormal in the

vehicle? | BIHd H SRATYRUT RR IR i gl ©

A : Loose wheel nut | %ﬁﬂ%ﬁmm

. Improper linkage adjustment | ﬂﬁlﬁﬁﬂ%
ﬁ%ﬁaﬁm@‘d
C : Improper tol-in and tol - out | &ﬂﬁae‘r‘s’:r
3R T 3MTSe
D : Improper tyre pressure | G@HWW

194 : What causes the deffect of ‘Hard steering’
in the hydraulic power steering system? |

gTE olfere UTar Wik, whafe g1 g w1 o

HRUIG ?

A : Improperpositionofdroparm|@U31Tﬁﬁ
PlEEE

B : Tierod loose fitting | Eﬁﬂgﬁaﬁ?ﬁﬁoﬁv
gﬁ:ﬂ

C : Band axle beam | WWWH@TE B
D : Improper size of tyre | aﬁaamwﬁa

195 : What causes “Air suction” in pump of
hydraulic power steering system? | ET%@WW
Rﬁuﬁﬂﬁmﬁwwmww%

A Noise | IR

B High fluid level | 3= ¢d ¥}

C Low pressure | hH qdld

D Steering wheel play | Rﬁ'ﬁlﬂ"'{o_ﬁﬂﬁlﬁ

196 : Whatis the cause of “low pressure” in the
hydraulic power steering system? | BE@WW
TR & 7 39T HT T PRU S 2

A : Low oil level | 9 3figd e

B : Wrong flow control valve setting | tﬁ'ﬁm
dTed AT TTeld

C : Airinthe system | ﬁIWffBEIT

D : Wornoutsealing ring | WWWW
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197 : Whatisthe name of power assisted servo

brake? | R H TR RS SH A DA IH & ?

(0~ 1| —

| - ]:w‘

— -

A : Vacuum suspended power brakes | aaq;q
WSS UIaR sib

B : Airsuspended power brakes | Wﬂ@%@'
TR sich

C : Vacuum assisted power brakes | éaqq

RIS TR s

D : Electro hydraulic brake system |

FebCIerEglicrer 5 ke

198 : Whatisthe name of device used in the
braking system? | ICEE:] aniQ YD) D[ [AH
CRIMSIREER IR RIS

(=1

TTTorT

A Brake propostioning valve | S TG
dled

B Master cylinder | AR faeR

C Reservoir |

D Piston | e

199 : Whatis the type of master cylinder? |
T o B, P IR 7 AReR Riaivex & 2

A : Single barrel master cylinder | RFTd R
AR ReueR
B : Tandem master cylinder | TUSH AREY

IS NLSH
C : Tanktype master cylinder | %_GFE'IEUW

D : Centre feed master cylinder | JX Bls

AR RqueR

200 : Whatis the name of part marked as ‘X" in

the brake pedal assembly? | ﬁ'ﬁfﬁﬁﬁ, 3% Usd
T § X GRT G T g ?

A Clevis | Fafag

B Lock nut | did e
C Pedal | sd

D Push rod | Tﬂa_s'

201 : Whatis the type of master cylinder? |

e o o forg U o1 ARer Risivex faan g »

A : Tandem master cylinder | TUSH AR
RaveR
B : Centre feed master cylinder | T fthe

AR Reluey
C : Tanktype master cylinder | %EE'IEUW

D : Single barrel master cylinder | A R
AR ReueR

202 : Which principle is applicable for hydraulic

brakes? | as@ﬁ%%mmaﬁﬁrwﬁm
ANLEIAIS ?

A : Pascals law | UR&d &1 Haq

B Boyls law | e &l a8

C : Newtons law of motion | ?E:TW‘T%W
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fram
D : Hooks law | § &I 4TH

203 : Whatis the name of part marked as ‘X’ in

the mechanical brake? | Ahedse d x R d
ford qRIfaT ST 8 2

A : Brakedrum | W@q

B : Brake shoe retracting spring | WQ]\
C : Pedalreturn spring | o T faim
D : Brake pedal | 3% Usd

204 : Whatis the type of brake system? | ﬁﬁ[ﬁ,

g TPR BT 9 RieeH g 2

A : Drum brake | @W

B : Vacuum assisted brake | WQ@I@_@'%
C

D

Disc brake | &b 9%
Hydraulic brake | BB@WW

205 : Whatis the type of braking system? | f=

H fPqUpR BT op Rea § 2

Disc brake | S 5@
Drum brake | sﬂw
Air brake | Waﬁ

Hydraulic brake | 3@%@3’7

OO w >

206 : Which device permits air to the air brake
system? | TR 5o e &1 DI T SUHRUT gl
@1 Al AT 2>

A : Hand control valve | %Ugaﬁﬁaw

B Spring brake actuator | @"TWW

C : System protection valve | Rew sa@ ared
D Brake valve | S dled

207 : How the slip ratio is calculated in the ABS?
| T. . T, # U 3urd o T 1 STl § 2

A Velocity speed—-Wheel speed
X
Vehicle

| (A7 TS - setd TWS) x 100 /AT8A

Wheel speed - Vehicle speed
. X

100

100

B Velocity

| (BT TS - a8 WiS) x 100 / AT

c - Velocity speed-Wheel speed
. X

100
Vehicle speed

| (AT 71T - BT TWie) x 100 / BT Wi

Vehicle speed- Velocity speed
X

100
Wheel speed

| (Blpd WE - A7) x 100 / Rlpdt Wi

208 : Whatisthe name of component used in

the air brake system? | s ead R dfda Y
YR HTRTATHG ?
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A Brake valve | S dled

B Unloader valve | 3SR dled

C Slack adjuster | WW

D Pressure realse valve | TR dfer are

209 : Whatisthe name of device used in air
brake system? | ﬁﬁ[ﬁﬂ?lﬁ"l@, mem
WM aT YR HTFTAH @ 2

A : Airtank | @T%

B : Brakevalve | & dled

C : Brake chamber | TP IR

D Un loader valve | 3FAISY Aled

210 : Whatis the name of part marked as ‘X’ in
the slack adjuster for ‘s’ cam brake? | ‘s’ %qaaﬁﬁ,
T TSOReR | X’ GRT GRITATE T4 YT &1 T 19

Brake cam | W%ﬁ
Adujsting nut | Q\_YI‘@T[TCF
Brake drum | Wf‘j{q

Cam roller | FHH AR

OO w >

211 : Whatis the name of brake adjuster? | EE
T 3% TSR HTFTAH G ?

g

..........

A : Slack adjuster for ‘S’ cam brake | TH
TSR W HH b

B : Wedge type brake adjuster | a\_rfE'I_{qw
TsiR

C : Serrated wheel brake adjuster | 3{¢TIT-3{cTTT
&Id b TSR

D : Snail and cam type adjuster | I 3R BH
CIRU USSR

212 : Which material is used for brake rotors
and brake pads for aircraft and racing cars? |

TIRGTHE 3R IR BRI & oL 5 Ved SR 5
U & fore for Tl o1 S Uit fopan Sira 82
A : Sintered alloy | WWW

B : Carbon fiber reinforced carbon composite |
v e B N o c

Dl W[QdR WIS dpldE- H%H

C : Asbestos | THERCH

D : Copper, brass, steel | PIUR, §lH

213 : Whatis the material constituent of semi

metalic brake lining? | AT AeTferd s agT
A U P e ?
A : Carbon fiber | Wqﬂ%ﬁ?

B Aluminium oxide | Q?{&Iﬁm m

C Fine polished steel wool | Wm@ﬁ
ES

D Carbon composite | CICREEY

214 : Whatis the binding material used in
organic brake lining? | 3 s AT H
TRfETAARTa P AT S g ?

A : Resin R'ﬁlq
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B : Mica | HISPI
C : Asbestos | THIRCH
D : Fibreglass | lPI9dR ol

215 : Whatis the permitted brake pedal travel

in the hydraulic brake system? | gﬁﬁmw

Rreen § Rufivd 5% Ued ¢ad fra g 2

A : 2to12mm | 2T 12 mm

B : 6tol2mm | 6T 12mm

C : 7to12mm |78 12 mm

D : 9tol2mm |9¥ 12 mm Brake shoe | S

Wheel cylinder | @aﬁlﬁm
Back plate | CEAN
Shoe hold dowen pin | QI\E S 8lad fud

216 : Whatis the type of wheel cylinder? | IEE]

H {59 eR &1 wid RaveR fear mang »

OO w >

219 : Whatis the type of brake? | ﬁﬁ[f{, fg
THR BT 5 RCH T ?

=
TR
KGO
K I KA Lo
R,

oS
{0
botatete?

5
X8

7
oot
%%

SRS

1 L

A Integral type brake | s:l_c&l?lang

B : Airassisted power brake | W‘I@f@@w
C
D

Multiplier type brake | Hee TR TI3Y S
A : Double piston with straight bore | Sdcl

Pedal assisted type brake | sd d IR
0% Y IR o g

B : Single piston wheel cylinder | fRiTTet foee=t 220 : Whatis the type of brake? | R, fra
UPR BT AP © ?

C : Double piston with step bore | 399 fUe
LYIR & 1Y

D : Baffle type piston wheel cylinder | CLal

TT3U U wid Ricivsx

217 : Whatis the material used to make brake
drum? | b S o o8 fav et o1 o foban
ST g ?

A : Stainless steel | LT W

B : High carbon steel | aéwah@a

C : Special type castiron | @W?@W
SR

D : Highspeed steel | ‘s’rs‘?tﬂg

Integral type | él%‘/'la CHEL
Multiplier type | Aol R

Pedal assisted type | tsd QI%II@S HEL
Air assisted power brakes | TUX TS

218 : whatis the name of part marked as ‘X” in

the drum brake system? | Sﬂ%ﬁlﬂﬁ,ﬁﬁﬁ,
X’ GIRT SRITT T HRT HTRTATH  ?

ﬁcﬁwlb
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221 : Whatis the name of part marked as ‘X" in
the vacuum assisted power brakes? | éaqq

R TR 8 §, RF & x SaRT SRR 2

~ ||
i

- %

Master cylinder | AR fqiueR

Booster cylinder | wﬁﬁm

Vacuum control valve | Wﬁﬁam
Brake pedal linkage | S Usd fefpol

OO w >

222 : Whatis the purpose of brake
proportioning valves in the braking system? | s

e T §ob TURATHT dTed BT RT I Q ?

A : Reduces brake pedal effort | Wﬁ@ﬁl‘{lﬁ
b YcHl

B : Increase braking efficiency | ST garar
delHl

C : Provide balanced braking | é@rﬁma%rré:n
D : Preventfront wheel lockup | errrl?rm%uaﬁ
Al 37 Y AT

223 : Where the non-return valve is located in
the centre feed master cylinder? | I IS AR
fRrQusR H 1 e area wet fhe BT g 2

A : Onthereservoir | NG (R Pdery

B : Onthecylinder head | ﬁ@m%@:m

C

D

On the bypass port | a@mam’uﬁ'c‘
On the pistons head | ﬁW%_S'tR

224 : Whatis the brake pedal free play range
permitted while adjusting? | THTIAS ®Rd U
Wﬁmcﬁ@iﬁaﬁ SAfd T 82

A 4 mmto 8 mm

B 8 mmto 10 mm

C 6 mmto 12 mm

D 13mmto 18 mm

225 : What s the pre caustionery measures to

be adapted while removing secondary piston to

prevent damage? | &rﬁaﬁﬁﬁ%%nm
fiRe &1 g & SR 3G o [T o ard gd
G & ST J1 2

A : Remove the circlip before | %ﬁﬂﬁuaﬁ

EET?f

:  Remove the retaining spring before | QB@[
ﬁ%ﬁﬂﬁﬁ%ﬂf@maﬁw%

:  Remove the stopper bolt before | UE'@TW
aﬁ?c'aﬁ‘eraé

. Remove the return spring before | q@'@fﬁ?f:f
@mﬁ‘s’aé

226 : Whatis the purpose of ‘G’ sensor? | ‘G’
AR AT ICRAE ?
A : Locking pressure inside wheel cylinder |
ﬁaﬁqﬁvsvﬁ SRl QT URR

: Measuring deceleration rate of vehicle |
?ﬂ%?rﬁq‘c?ra?ﬁmuﬁ
C : Reduce pressure at wheel cylinder | O_éFT
RIIUER &1 IRR &8 BT
D : Detect wheellock up condition | %c‘?f?ly@
3y fRUFAT BT Il BT

227 : Which device detect the driven wheel spin

through sensor? | ﬁﬁ%ﬂ@ﬁ?@ﬂﬁ"ﬁ

WA B /R BB ?
A : EBD

B : ECU

C : TCS

D : ELSD

228 : How the EBD (Electronic Brake Force
Distribution) failure indicated to the driver? | EBD (

TP Sih B ST ) SIEaR Db bl
Tl Il § ?

A : Peepsoundinthe cabin | P T Uiy Bt
3fTaTet gl

B : Indication lamp the dash board | SIS R
T T &R

C : Glowingthe parking lamp | OIfHT g
gHA[

D : Flickering the tail lamp | éﬁ?ﬂg—fw
gHA[

229 : Whatis the advantage of TCS/ELSD brake
circuit of wheel? | ﬁﬁﬁTCS/ELSD S gihe BT
amqm%?

. Reduce the pressure at wheel cylinder |
o—sﬁaﬁévsvmﬁwwm
B : Reduce fluid pressure | W}EWWW
D[

C : Automatic adjustment of engine torque to
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the grip rates | o eRid gl clh o1 Tferd

Avoid wheel lockup by releasing pressure |

am%aﬁf{i%l\—:r HIP BId Al Pl TN

230 : Whatis the function of traction control
system? | mﬁmﬁwwwm%?
A : Prevent wheel spinning | SaId ST &I
@W

. Release the pressure to expansion tank |
Qa&qﬁmﬁaﬁw HH HAT

C : Reduce the engine torque | ETYFTE'@H%
HH HIAT

?ﬁ: Reduce steering effort | TR ya™ w9

231 : Whatis the function of EBD (Electronic
Brake - Force Distribution) in anti lock brake
system? | @Wwwl}[ EBD (
mﬁa;aa?%@r@ugmwwm%?

: It control the slip of the front wheel | T C
o—cﬂaaﬁwﬁq@ﬁ eI

: It controls the slip of the rear wheel | PRIy
q%ﬂ’fﬁwﬁqsﬁﬁm

. Itincrease brake pressure to the rear wheel
| ﬁl@ﬁq%u’rmwamm
D : Itimprove directional stability of vehicle |

g arg o1 ferm Ry Rfsferdt w1 sgmr
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232 : When motor vehicle act came into force?
| STe HYeR aTe S aw ar gl g |

A : 1July1989 | 01 TS 1989

B : 31868 | 01 3Ud 1987

C : 1Aug1985 |01 3T 1985
D

1July 1988 | 01 T[T 1998

233 : How to define a vehicle constructed to
carry more than 6 passengers but not more than 12

passengers? | OE;ﬁIOhmﬁd'-lldc Y HY Udr T fop
6 TR @ oM & fore a1 12 TSR A &1 & ST
¥ faug e

A : Light motor vehicle | bl HleX dTg-

B : Maxicab | AR e

C : Goods carriage | T & aTelt et

D Contract carriage | \}Iﬂﬁ‘ﬂﬁ"ﬂ@?

234 : Whatis the age limit prescribed to drive

transport vehicles? | mmﬂﬂﬁﬁ@
ERJT% ?

A 16 Years | 16 9T
B 18 Years | 18 HId]
C 20 Years | 20 HIdd
D 22 years | 22 Il
235 : Whatis the validity of learner driving

license? | Eﬁ@éﬁﬂﬂ@ﬁaﬁmwaﬁ%

A 6 Months | 6 HIg
B : 8 Months | 8 Hlg
C 10 Months | 10 Hlg
D 1year | 1 91

236 : Whatis the validity period for transport
P o Q c EN
vehicle license? | cTHUIC cgld ] oIl ® dddl

FTEIA G ?

A 5 Years | 5 Il
B : 10Years| 10 9T
C 8 Years | 8 {Id
D 3 Years | 3 HIdd

237 : Whatis the validity period of the license
to drive non transport vehicle? | ﬁ?uﬁaﬁw
T o fTT AT BT dT SHafd Ja1 g2

A : 10VYear| 1091

B : 15Years| 159Id

C : 20VYears | 209
D : 22Years|229ld

238 : What is the validity for international

driving license? | &raw@?lgréﬁﬂaﬁéﬂaﬁ
deran

FTEIAT g ?

A 2 Years | ZHIFT
B : 3Years|39d
C 1 Years | 1 9T
D 5 Years | 5 HId]

239 : Whatisthe name of sign? | Hobd oI T
THE ?

)

A Gap in median | A H 3R
B : Narrow bridge | ?‘FTEK’[
C
D

Narrow road | T IRl
Road widens | ST I

240 : Whatis the overall length of a transport
vehicle with rigid frame with two or more axles

permitted by motor vehicle rules? | ﬁmaﬁﬁ

3HfH THAd d(Axle) AT TAUTC R dl & 31
(Rigid) ShH B! T (Overall) TETS HICR &IHd
A b FTAR AR ?

A : 8Mtrs

B 12 Mtrs

C : 6Mtrs

D 15 Mtrs

241 : Whatis the type of sign? | Tdbd I UHIR
(Type) TG ?

PN

g
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A : Parking signs | i Tohd

B : Prohibitory signs | fAveTHS gobd

C : Speed limit and vehicle control signs | s
D : Caustionery sign | ESICRIESEIREES

242 : What does the traffic sign indicate? |

e Tohd T TG 2

iy

Two way operation | gé IRE
Cross roads | HRIAS

Traffic diversion | ?;W@sﬂ?ﬂ
Slippery road | ,Wﬁ'ﬁﬁg

OO w >

243 : What does the traffic sign indicate? |

2fthep Topd T ST S 2

A School | ¥l

B Men at work | MWW%

C Pedestrian crossing | ﬁe@mﬁ%ﬂ

D Cycle crossing |

244 : Which form is used for declaration of
physical fitness in the motor vehicle act? | P
HIH &1 TN {6 d fhed &1 9V - &
fer, Alex b T HBIC & ?

A Form1 | B - 1

B : Form1A | WH-1A

C Form 9 | BTH -9

D : Form20| M- 20

245 : What s the use of form LLD in motor
vehicle act? | AR Bl d Tae A WIH LLD BT TANT

gIaTg |
A : No objection certificate | EIRIESERE]

it
B : Registration of motor vehicle | uﬁa%ﬂw
Wti\_rﬂWUT

. Intimation of loss driving license | sﬁéﬁﬂ
a@q%@ﬁaﬁ{ﬁm
D : Maedical certificate | IEIEZSIREIURE]

246 : Whatis the permitted overall height of
tractor trailer goods vehicle as per motor vehicle

act? | AR Rl Uae o AR, HH e ardl
g1, TR CER 1 THyUl 3FAf T $a1s T g

:@: Not to exceed 4.20 Mtrs | 4.20 Mtrs ¥ 3ifedh
:Eor: Not to exceed 4.75 Mtrs | 4.75 Mtrs T 3iferwm
;ﬁ: Not to exceed 4.50 Mtrs | 4.50 Mtrs T 3
D : Not to exceed 4.00 Mtrs | 4.00 Mtrs ¥ 3{f&Idh
247 : What does red circle instructs in traffic

signs? | e Tord T ATa Tehd T eI o g 2
A : Whatshould be done | &1 &A1 Al

B : Whatshould not be done | Wqﬁm

C : Information sign | WW

D : Caustionery sign | Jdra- God

248 : What s the purpose of form 33 used
regarding registration certicficate? | TSI 0T THT0T
U3 & GH § TH 33 BT YA BT RT3 @ ?

A : Notice of transfer of owner ship or vehicle |
HIfeTeh AT aTg+ I TR ol Fa-T

B : Renewable of certificate of fitness | e
THIOT U= & -1l

C : Intimation of change of address | WW
ﬁﬁ%ﬁn

Registration of motor vehicle act | qiex

mwwuﬁw

249 : Which form is required to obtain
temporary authorization of use of vehicle when the
certificate of fitness expired? | e e gHToT

T UGHUIER (expired) B1 SITY, el Sgihal bl SRS
gferHRor (Temprary authorisation) W”T%Wﬁ:{
T BT DT SATTRIHT Bl 52

A : Form C.FSub | ®BH I U%. Id
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B : FormCF.RA | BHITHEIRT
C : FormCFA|BHITHT
D : FormLLD | ¥ U, T, S,

250 : Whyform 9is required for driving license

in motor vehicle act? | WWWﬁSj@%‘T
a@ﬁ%%@ﬂﬁ 9 DI ATIRADH T T Bl § ?

:  Tointimate loss to driving licence | 31‘%%«’[
a@a%@ﬁaﬁgﬁm%%ﬁ

: For renewal of driving licence |
aTé@ﬂ%:ﬁ’lﬁao—{wé?W
C : Todeclare physcial fitness | RIS e
aﬁﬁaaﬂﬁés ferg

: For no objection certificate | IR IESCRG]
H%W%ﬁw

251 : Which among the following form is

required for driving license? | @3@”3@?%

fere fAafafea o @ &1 91 Bid s 32
Form 20 | T6TH 20

A
B : Form 30 | TH 30
C
D

Form CFA | ToTH I1.UH T,
Form LLD | tﬁlﬁ@ Td. 3.

252 : Which form required for registration
certificate? | WWW%W@?W%
AP &2

A : Form1A|TH-1A

B : Form29 | WTH- 26

C : Form26 | WM -29

D : FormC.F.R.A | TTH Tl.UH.3MR.T.

253 : Where form 30 is used in motor vehicle
act? | HIcY iddl Tac § BT 30 5! JANT 8idl §
?

A : Notice of transfer of ownership of motor
vehicle | W@WaﬁwaﬁWﬁ
g1

B : Report of transfer of ownership of motor

vehicle | ﬁaﬁwﬁnﬂ%ﬁﬁmﬁ
Rafe

C : Intimation of change of address | URIE S

D : Issue of duplicate certification of registration

| TSRl BT gUfdidre Tfcfthape ST AT

254 : Which type of form used to declare
medical fitness in motor vehicle act? | Hiex %ﬁ?‘f

Tae § AfSpel gicpobe o UINu & fu b A
THR HT HTH FART IS 2

A : Form20 | BTH- 20

B : Form26 | WTH- 26

C : Form1A | BH-1A

D Form 9 | B -9

255 : What will be the contributory cause for
engine noise? | o & TR & forT SfRIert
(Contributary)wwm?

A : Defective pressure relief valve | WIS YRR
R ara
B : Incorrect quality of fuel | ‘s’ﬂqﬁw

Defective fuel injection pump | WRTd WcT

s@wum
D : Low compression pressure | HH HHURH
PRIN

256 : What will be the probable reason of low
oil pressure? | HH 3T UIR BT GAHTTAd BRI
a“qTEﬁTrr ?

: Wornout camshaft, crank shaft bearings |
Mw%wﬁuﬁnwﬁmm
B : Defective injector | WW
C : More crankshaft end play | & I B
TS Ul STl gl
D : Carbon deposit on piston head | ﬁﬁ%@?
TR BTe STHAT

257 : Whatis the result of clogged oil strainer in
the sump? | GFIH 31T B SITelt BT A B B
TAST RS ?

A : High oil pressure | E'I_g' 31d IR

B : Low oil pressure | Al 3gd IR

C : Low fuel pressure | a‘rqgaﬂm

D High oil consumption | 3Hgd P TG Wad

258 : What will be the result of improper
injection timing? | s@ws@aﬂqaﬁmﬂw
TSI T BT 2

A : Low power generation | PH UTdR 3dlgd

B : High fuel consumption | S8 @1 SATGI @Td
C : Engine does not start | WWE&C’?@T‘W
D High oil consumption | 3HTd P SATeT @ud
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259 : Whatis the outcome of starting engine
with corroded battery terminals? | Gﬂ'Uf-‘Zﬂ'Uf(W)

gﬁmmmwmwwwm

A : Engine run erratically | Wmﬁmﬁ
BN
B : Low power generation | Y UIaR BT
Jdlad

Engine will not start | gﬁqﬁwqm

C
D : Engine will be over heated | ETYFTTIIfE T

260 : What will be the effect on the engine
performance in case of Ioose fan belt? | T dee
a"wﬁaﬁ@r SO D1 IR REY TR T 3R U ?
Engine over heating | S99 31fdrep T

Low power genaration | WWWW
High full consumption | S"EFTEEQT 3% @ud
High fuel pressure | S99 &l 3B IR

OO w >

261 : What will be effect on engine
performance in case of air in the fuel system? |
WA Reed B TR A1 §H IR $9H UG
(Performance) UX T 3R UST ?

A : High fuel consumption | Wg?ﬁﬁ
Jqud

B : Engineruns erratically | ESE| AT ETT
ELU

C High oil consumption | 3P A Bl WUd
D : Low fuel consumption | wésﬂﬁ@uﬁ

262 : Whatisthe cause of erratic running of

engine? | S P STATS I I DT FTHRUTE ?
: Defective radiator pressure cap | ‘rﬁuqvf

ifﬁcrqaaaw

B : Water presentin the fuel | 3?J:fﬁq17ﬁ$[

il

C : Low compression pressure | HH HHUIR
R

D : Clogged air cleaner | TR &iI-R TiG] Skl

263 : What causes high oil pressure? | 3fH
3T IR &1 R HRU ?

A Defective oil pump | 3TIA &1 HH [ATHIRICT
B : Water presentin the fuel | '&'ﬂqﬁtﬂ:ﬁﬁ

C

Defective relief valve | R dTed BT TRE

D : Defective fuel feed pump | Wug,auﬂ@:
gy

264 : Whatis the result of more carbon deposit
on the piston head? | W%@W 3fIp PHra
ST BT R BRI 8 ?

A : Engine over heating | WW"IﬁEﬁ:ﬂ

B : High fuel consumption | Wsﬁqﬁ
Jqud

C : Low power generation | H UIdX Wl
D : Engine noise | WW@?

265 : Whatis the effect on engine performance
if the low viscosity grade oil used? | gfe ®H
fIThIRIET U &1 SR YART B, dd So1 &
1;IETZ&I(Performance) U T Wéﬁ?ﬂ% ?

A : High fuel consumption | ngﬁﬁm
B : Less oil consumption | H 3T &t @ad

C : Excessive oil consumption | 3P 3Mad B
Jqud

D : Engine will be over heated | ESE| 31fdrep T

B ST

266 : Whatis the result of weak compression

pressure? | HHSIR HHITR UTR & 1 IR
gIaTg ?

A : High oil consumption | 3P M Bl
qud

B : Low fuel consumption | W%ﬂ:{aﬁm
C : Lower power generatio | HH gTaR Ht
Jdlad

D : Engine will not start | ETSIIIET—C’:@IEBITIT

267 : Whatis the cause of low power
generation? | HH UTGR T BT T HRUTG ?
A : Improper tappet clearance | ﬂﬁﬁ?m

Engine overheating | S99 3‘“3?@ T
Low oil viscosity | ¥ foxaITIcT 3mad g1

«J
B : Highoil level | 3TOd Wad 31 g
C
D

268 : What causes high fuel consumption? |
3R S5 1 U BT T HRUT g ?

A : Less water level in the radiator | ST H
qTeR AGA BT HH BT

B : Clogged air cleaner | WWW@W
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C : Defective thermostat valve | YTARCE dTed

CAKCHC él;ll
D : Exhaust manifold clogged | Q‘Gﬁ?aﬁlﬁ-lv@

e g

269 : What will be the effect of clogged fuel
tank vent hole? | W< (Fuel) %a?ésar—c'aaﬁsaa
B BT T SRR IS

A : Engine does not start | WE'TE:T@:IT

B :
g
C :
g
D

e

High fuel consumption | W%ﬂ:{ﬁ@qﬁ
High oil consumption | 3% 3Mad B @ud

Engine over heating | S99 &l i T
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270 : What is the name of part marked as ‘X’ in
the multi point fuel injection? | Irf?{qﬁ—c’qz\]’a
RA T x R I U FTRTTHE ?

A Intake port | Wtﬂé

B : Intake valve | Wa'lc_d
C
D

Intake manifold | Wﬁﬁcﬁl S
Injectors | 3@3??

271 : Whatis the name of part marked as ‘X’ in

the MPFI system? | MPFI RieH & X’ =M aral
U TN g ?

e

Fuel filter | Thgd ftheey
Electric fuel pump | sﬁ%ugaqm

Pressure regulator |

Electronic control unit | sﬁa@%a@a

272 : What is the firing order for four cylinder

engine? | WWW%WWW

T ?

A : 1342
B : 1234
C : 2314
D : 3,142

273 : Whatis the temperature limit set to
ON/OFF for the radiator control system? | ISR
Held RIeH & [T AMIH™ & 37 / 31 B Bl
w1 fafie g 2

A : ON and OFF at below 98°c and 93°c | 98°c

3R 93°c ¥ HH TR ON / OFF
B : ON and OFF at above 98°c and 93°c | 98°c
3R 93°c { 31 TR ON / OFF
C : ONand OFF at below 93°c and 84°c | 93°c
33“\’84%@@11? ON / OFF

: ON and OFF at above 90°c and 81°c | 90°c
Gﬁ“\fsl ¢ 9 31fe/eH TR ON / OFF
274 : Whatis the name of device used in the

ignition system? | RIF A lR@U MU s Ren &
Ui BT RS

Distributor | %Qél@aq
Ignition coil | 9 DE EEIEN]
Condenser |

Contact breaker | PHICaT TP

OO w >

275 : Whatis the name of part marked as ‘X" in
the ignition coil? | ElaQ Fead | x A= ara
O BTG ?

A : Primary winding | mm

B : Secondary winding | waﬁ%ﬂ
C

D

Backlite cap |

Secondary cap | WW

276 : Which law states that the induction of
electromotive force in any closed circuit is equal to
the rate of change of magnetic flux? | IERICNISE]
fthe B S A o & SR, SSa-H
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SAdCIAICd BN, YT 3T o s T &
Ws’ﬁﬁ%?

A Law of resistance | Ty &1 g

B : Ohmslaw | 3R T g

C : Charleslaw | I &1 FTH

D Faradays law | TRISY &1 |

277 : Whatisthe name of sensor? | TR &
FTHE?

Crank position senor | émthﬁm:rw
Pressure sensor | TR AW
Temperature sensor | TIRTR YW

Hall effect sensor | WWW

OO w >

278 : Whatis the name of sensor? | TR &

TG ?
i \

YRV

%— \ J

A : Temperature sensor | TR IR
B : Pressuresensor | UIR YW
C Blind spot sensor | ET'I'IEE_S'WW
D

Air vertex sensor | TUR OREOH-I vl:I'vl-IV{

279 : Whatis the name of gauge used to check

spark plug gap? | WW%%W%W
TINT & S aTelt ST ST RTATH g ?

A : Radious gauge | IS Tl
B : Feelergauge | fher

Cc : Anglegaugelqllaﬁﬁf
D : PIuggaugelWTﬁ\_rf

280 : Whatis the type of sensor? | TR ot

A : Cam shaft position sensor | Y MU
IR YR

B : Throttle position sensor | YTed TIfoTRM TR
C : Crank shaft position sensor | %o I
QISR TR

D : Magnetic induction sensor | W
TSR YW

281 : Whatis the name of sensor? | IR BT
TR ?

A : Temperature sensor | %TCIWW

B : Throttle position sensor | Yied TIfoRM TR
C : Crank shaft position sensor | S T
TITSTRM TR

D : Pressuresensor | WW
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282 : Whatis the type of sensor? | YW Bt T

Pressure sensor | TR IR

Temperature sensor | SR YW

Throtte position sensor | Yled TIToTRM TR
Magnetic induction sensor | AHies

s@#m@w

.0 0O W >

283 : Whatis the name of part marked as ‘X" in
the spark plug? | T T H ‘X’ fA=IH ara uré &1
A ?

L]

o
A Body | qist
B : Endcap| Q%'ao_q
C Insulator | sﬁﬁa
D Centre electrode | ﬁasﬁaa‘s’

284 : Whatis the permitted spark plug gap in
general? | WWWWWW@W%?
A : 2.83mm

B 2.03 mm

C : 253mm

D 2.92 mm

285 : What is the name of part marked as ‘X" in

the distributor? | fSXCISgeR & x’ =1 a1t e
BIRTAAR ?

A Rotor | e

B Condensor | PSR

C Distributor cap | fS¥ISER &U

D Cam |

286 : Whatisthe name of part marked as ‘X’ in

the centrifugal advance mechanism? | @W
TSarg Ao # xR a1l Ord &1 R 8
?

Centrifugal weights | @IﬁCFEP'IT'I gc

Distributor cap |

Distributor shaft | %@WW
Breaker plate | TP @I

OO w >

287 : Whatis the name of part marked as ‘X" in
the vacuum advance mechanism?

| dRIH TSar Aobfo § 'x* =1 ara urd &
FTAHE ?
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A Vacuum unit | aaqqgﬁ‘c'

B Diaphragm | STIWRH

C Breaker plate | TR T

D Distributor | %@@ET

288 : How many spark plugs are ignited at the
same time in the distributor less ignition system? |
forTT fexdiageR arat 3fi=e Riked o fasae s
e Ueb 1Y FIRC 1A 6 ?

A Two | al

B : Three | o

C Four | %l'R

D Five | Ui

289 : What s the function of distributor in the
battery ignition system? | é‘;ﬁ EI?IQI:I Ren |
SR FTRT B G g ?

A : Distribute high tension current from ignition

coil to secondary winding | ?fszmwﬁsﬁm:[
DA J Yb L] TRfST db fSHK e dAl

B : Distribute high tension current flow ignition
coil to spark plugs | TTh W Y I dTd TAH
UaTg SR lgd fdalkd &

C : Opens and closes the secondary circuit of coil
| T B! Ydhas! e bl Wid 3R g BT

D : Distribute low tension current to ignition coil

| 3R FaTTd B A XA e FSIE HAT

290 : Whatisthe purpose of condensor in the

ignition system? | Wﬁwﬁmww
3aE?

A : Distribute high tension current to spark
plugs | WWT@E'F&C%WWW

B : Insulate spark plug electrodes | TP T
DI TARIS DI ST DAl

C : Prevents arcs at the points | 131‘%‘66!% &W

BEEISI
D : Open and close the primary circuit | CI'I%TIﬁ

gfdhe ol WA 3R ¢ BT

291 : Whatis the achived through spark plug
end gap design? | WWW%%%&T@W
T T fpaT ol @ 2

A : Improve combustion swirl | HaTH RA |
YR HAT

B : Increase the fuel pressure | tfg,aﬁmam
C : Improve fuel atomisation | WWW
D : Helps for the complete ignition | E{EIWIERT
B H HGTIdT AT

292 : Why many engines use spark plugs with

tapered seats? | W@Wﬁ%mﬁw
e & TR T YA IR | ?

A : Helpsin easy fitting | g\_rﬁﬁb—%'[ﬁw
Al

B : Produce correct alignment | ﬂﬁﬂ?ﬂéﬂ?
UeT AT

C : Provide clearance space | m@ﬂ
Yl Al

D : Produce good sealing | &@ﬁﬂ%ﬂa‘cﬂ
DT

293 : What will be the effect of the long heat
path travel in the spark plug? | Wwﬁ‘aﬁ?m
ST IRAT T R BT AT SR NI 2

A : Spark plug will run cooler | W T 38T

B : Life of spark plugincreased | W T P
AR &G ST

C : Spark plug will run hot | T T TIIfQ%‘II
:Dlgbr:Q%IT?proper atomisation | &n-cﬁwéﬁ*ma%ﬁ

294 : Whatis the purpose of breaker plate in

the distributor? | fSETeIER H SR &iT &l
SR ?

A . Acts as contact breaker | Picae JBR B &Y
frwq‘ DA
:  Prevents dirt, carbon into distributor |
%@Wﬁ od SR BT A T
Conduct the ignition surge to the electrode |

sﬁﬁa‘s’éﬁmﬁm I BT AT DA

Distribute high tension surge to ignition coil

I%Wﬁ‘s’ré%mmmm
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295 : Which electronic control system prevent
stalling of engine when additional loads are placed
on the engine? | 91§ 399 IR e YR STam
ST § Al I | S b (a0 JUTTel! S5 &1
A 82

A : Fuelinjection control system | uqa‘s'@ram
deld Reen

B : Fuel pump control system | tﬂﬁm@ﬁ
Rreew

C : Idle speed control system | 3‘”’%?:?’[@3
el Rieen

D : Ignition control system | _&'ﬁ"\’ﬁm
Rreew

296 : How much is the difference in resistance is
permitted in the temperature sensor unit? |

SRR YW AT B IR 3t foa iR ot
aﬁfﬁrﬁf% ?

More than 100 ohms | 100 ohms T 3w
More than 150 ohms | 150 ohms T 31w
More than 200 ohms | 200 ohms T 3iferp
More than 400 ohms | 400 ohms T 3w

OO W >

297 : Whatis the function of thermo time
switch in engine control module? | gﬁqa@ﬂ
Hregd A YAl e H Rag ST RTAM g ?

A : Sense exhaust gas temperature | Q’\_rhﬁﬁﬂ
o AU B Y BT

B : Sense engine coolant temperature | ETTFT
Pl & AUEH B Y DAl

C : |Indicate lubricant temperature | FRI@W%
ATIHH T bd T

D : Indicate fuel temperature | 'SC?FTWFI'I'CI'J:IFT

BIUCE

298 : Which instrument indicate engine RPM in

the engine control module? | %ﬁqa@anﬁgﬂﬁ
éﬁﬁ% RPM 19 1 T ST g ?

A Pyno meter | mﬁrrﬁa

B Tachometer | TPl Hiex

C Galvano meter | T Hiex

D Hydro meter | ‘s’é?;rrﬁa

299 : Where the engine control module
installed in the engine? | {\fl'-l & ':‘Z\JH G'bg\lﬂ
Hregd wgl fthe fhaT S g »

A : Under side of instrument panel | Wﬁ'

Td & 1 B B

B : Inthe gear box assembly | TR a1
et o

C : Nearthefly wheel | WT’EC%TFT%W

D : Frontside of radiator | ST & R Dt
WP

300 : Which electronic control system supplies
optimum airfuel mixture to the combustion

chamber under different driving condition? | 3{¢I71-
ST SIS HISTH & g, HTARH IR & Tt
HHET A TR-WA TR $H 91 3 e derd

ReH ugandi g ?

A : Idle speed control system | G'Flé?ﬂf@l_s'
Pere RieeH

B : Fuelinjection control system | ug,aé@a?m
Pt RieeH

C : Ignition control system | gﬁzﬁfﬁm
Rreew

D : Oil pump control system | ad Uy g
PLIN]]

301 : Which part of electronic fuel injection
system controls opening of bypass air passage? |

SAaCId Td SolaRH RICH BT H I 91 ure
a@mwﬁ@a%@aﬁﬁﬁam%?

A : Pressure relief valve | WWW

B : Idleair control valve | alésqm TR G'b;\\m
dled

C Throttle valve | Yicd aled
D : Checkvalve | I dled

302 : Which part of ignition system connects

and disconnects primary circuit? | Elanq e &1
o¢C S D

DI 1 U, MHR) Fihe Y Seal g arsarg ?

A : Distributor | fSEIeR

B : Condenser |

C : Contact breaker | PHICaT FH
D : Ignitioncoil | € I FAI BT Al A

Hc ST DA

303 : Whatis the function of ignition coil? |

SARF T ST RT SR g ?

A : Step up low voltage to high voltage | ar
TIeco & B18 dlecol J g1

d
B : Step down high voltage to low voltage | Eﬂé

dlecsl &l dl dlecsl H gTH]
C : Connect the primary circuit to ignition switch
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| IS FRY Hfdhe o1 g feere 4 Sier

D : Disconnect the secondary circuit to

distributor | WW@%@W@W

304 : Which sensor located in the intake

manifold or throttle body? | ma’@mm
ADIcE A B T IR TN ?

A : Mass air flow sensor | W@T‘Fﬁw
B : Oxygen sensor | 3Rt YO

C Hall effect sensor | WWW

D Air vertex sensor | WWW

305 : Which type of sensor located at the
exhaust manifold? | WWWW
WWWW@W% ?

A Hall effect sensor | WWW
B : Oxygen sensor | ST IR

C : Airvertexsensor | @TWW
D

Mass air flow sensor | HIH Qq(tl?ﬁ@l'{-l{

306 : Which sensor used to measure the

magnitude of a magnetic field? | W éﬂﬁ%
GRATON b1 AU & foIT ford SER b1 SudiT foba
ST 82

A : Airvertex sensor | WWW

B : Voltage sensor | Jlecs IR

C Hall effect sensor | WWW

D Engine knocking sensor | gﬁﬁ:ﬁﬁv_‘TW

307 : Which senor is used to sense vibration? |

%W%W%Wﬁ@%mwﬂ@ﬂ

A : Engine knocking sensor | gﬁﬁ:hﬁv_"fw
B : Hall effect sensor | WWW

C Air vertex sensor | WWW

D Vehicle speed sensor | %ﬂa@sw

308 : Which type of sensor used to monitor the

injection timing and ignition timing of engine? |

SO B SoIaRI SIS 3R iR e i @t S

?%WWW%WWWWW
5

A : Pressure sensor | ﬁm@w

B : Throttle position sensor | Yied TIfoRE

W

C : Crank and cam, shaft position sensor | HH

3R A, MU TR HIWR

D : Engine knocking sensor | éﬁq:ﬁmw

309 : Which sensoris used to alert the driver of

unseen obstacles? | @éﬂ?ﬁﬂﬁmm%ﬁﬂ
B T YR TANT fhaT ST & 2
A : Speedsensor | g W

Parking sensor | IfdT IR

B
C : Torgque sensor | TTh TR
D

Pressure sensor | TR IW

310 : Which part of cold start system allow
additional air to bypass the throttle plate? | CAICSS

T R d H1 o A1 UIe Sifaad gar ! died
Iﬁzﬁamwmﬁﬁ A TR 2

A Auxiliary air valve | e—mﬁﬁaﬁww

B : Airsupplyrelay | @?F@ﬂgﬁﬁ

C : Thermo time switch | ?-Ijﬁaéﬂ@?[

D : Oxygen sensor | ST TR

311 : Whatisthe purpose of tachometer? |

PR BIRTISTYQ ?

A : Indicate coolant temperature | WW
CTORR M

B : Indicate engine RPM | S5 RPM T
C : Indictae fuel level | qﬂﬁ@lﬁﬁm

D : Indicate oil pressure | 3 YRR FdT

312 : Whatis the advantage of EFl engine
management system? | EFIWWWW
amth‘ra'crr%

: Increased thermal efficiency | yrd
@a‘mw

. Increased mechanical efficiency | AbHed
qﬁﬁ@mﬁﬁw
C : Better starting and acceleration | a_E;T‘R
R 3R TaIeRTH
D : Effective fuel distribution achived | E'W_d

R TSGR U BT

313 : Whatis the special feature of cold start
system? | Plcs WId Rer & [y deur g »
A : Provide additional fuel during starting |
T & Y 3D W UG Bl

B : Provide positive starting | EITWE;I'%‘T
Uald dAT

C : Intake manifold | sdech ﬁﬁwﬁ«s

D : Determine timing and sequence of fuel

injection | E@T@TWW%WE@
REINGERG]
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314 : What s the effect on engine performance
if air leak in the induction system observed? | ’Clﬁ
SR R A TR dib S 8 S 1
TUTG R OR T SRR BT S ?
A : Engine hard to start - Hot | gﬁqmﬁ
Effé‘cﬁ% ™

. Engine cranks but will not start | gﬁlq%
ﬁm%a%whﬁﬁ?ﬁ
C : Pressure regulato | W%uéaz
D : Engine produce abnormal noise | g\_rﬂﬁ
SRR 3TaTel U1 BIe 1 2

315 : Whatis the contributory cause for the
engine hard to start - cold? | W%{F\’?@e{ﬁ
qfewmd & o SRl HRU R - 3SI2

A : Thermo time switch faulty | A} eTsHiaT

TR g

B : Defective oil pressure | @rcrtpféawra—ma
C : Faulty fuel filter | wgﬂqw

D : Damaged radiator | &mm

316 : Whatis the cause of electrodes burning in
the spark plug? | WWﬁséa‘cﬁgaaﬁww
HRUIG?

A : Plugrunstoo cold | WWTHEHESTEPHT
B : Incorrect tappet clearance | 7Tdd

FAIH

Plug runs too hot | WIE%WTEEHTII‘:Q%TIT

Incorrect fuel mixture | Wﬁ?ﬂﬂ?ﬂﬁ:{

C
D :
g

€@ \| M| Question Bank

Page 45 of 66



Mechanic Motor Vehicle - 2 Year - Module 6 : Charging and Starting System

Reviewed and updated on: 01 November 2019 Version 1.1

317 : Whatis the name of alternator part?

| AR UIE HIRTAHE ?

A Drive end frame | @éaqrs’ﬁrm

B Spring end frame | @mm—sﬁm

C Rotor assembly | e AT

D Stator assembly | T Tl

318 : Whatisthe name of alternator part? |
3T & UIC HI RTATH g ?

A Drive end frame | @éﬂ@ﬁﬁq

B Voltage regulator | il i‘, LR

C Slip ring end frame | Wﬁ'ﬁﬂ%’aﬂ:{

D Current regulator | XC Q!!@EQ

319 : Whatisthe name of part marked as ‘X’ in

the alternator charging circuit? | 3feeTeR T
gibeH x A ué ST g »

A : Ignition switch | mﬁ?{
B : Ammeter | Q'ﬂ:ﬂa

C Ignition core | @W&ﬁ?

D Fuse | Wdul

320 : Whatis the purpose of ‘V’ pulley in the

charging system? | allﬁllﬁlWﬁvgc_vﬁWW
ICR?

A : Drive the cam shaft | HH TUT DI IATT
B : Rotate the alternator rotor | 3eeTe e

ﬁ .
C : Drive the crank shaft | SHes YU DI IAMT
D : Support rectifiter mounting plates |

IFEHRR We Bt ARSI & TgrId 1

321 : Whatis the name of part marked as ‘X" in

the starting system? | it Ren d x A
qT U IR AHE 2

A Key switch | P Rea

B : Armature |

C Solenoid switch | oS Rag
D Starting motor | Tl AR

322 : Whatis the name of part marked as ‘X" in
the starting circuit? | TleT gfdbe H 'x == arat
O BTG ?

T

Solenoid switch | BINGICEAEE!
Solenoid windings | TGS aTs (&
Starter switch | i Raw

Startor motor | Tfer AeR

OO w >

323 : Whatis the type of starting system? |

i RRCH BT RTUBRE ?

7

-

it RN ]

=] 7 ’J
7]

s

% — =
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A : Bendixdrive| a@,a&rraéa

B : Axial orsliding armature drive | T&RICT T
fﬁ X g

C : Overrunning clutch drive | 3R 1 I

SEE

Sliding clutch drive

W:rré%naa%r@éa

324 : Which type of DC starter motor generally

used in automoniles? | &n'cﬁnﬁméaﬁ SMAAR TR
aﬁmﬂ DC e HIeX B TR YaRT H STt 8 2
Series type | ﬁlﬁﬁ?@

Shunt type | ¢

Compound type | WE’I’%&{

Parallel type | ﬁwaéq

OO w >

325 : Whatis the type of winding used in DC
c Y N
starter motors? | DC ¥ ieX Ale H i Ut UHR B

TERET TN B S 2

O+

. O .

Series type | T—ﬁﬁﬁf?lé'q

Parallel type | ﬁwaéq
Compound type | WE’@
Shunt type | e

OO w >

326 : Whatisthe name of part marked as ‘X’ in

the solenoid switch? | TS fRga & x* =
AU HIRTAHG ?

Hold in winding | gles ST RIS
ISE]

A
B : Starter switch |
C
D

Pull in winding | g,as?aﬁ%ﬂ
Iron plunger | 3 é?q UciolR

327 : Whatisthe type of starting system? |

i RReA fPa UPR BT 8 ?

LA,

A : Over running clutch drive | 3R T I

B : Bendixdrive | é%a%r‘;'rs‘a

C : Sliding armature type | W'Igﬁ':ﬂ'[ Gﬂﬁﬂ?ﬂéq
. Radial sliding armature type |

F’ﬂ'&f%ﬂ R @3y

328 : What is the name of part marked as ‘X’ in

the bendix type starting system? | GG

i R a0 x R o STaram e 2

A Anti drift spring | Q'_a%'%w

B Bendix drive spring | a@@s@@m

C Armature shaft | SR T

D Fly wheel | W'I_Sc@ﬁa

329 : Whatis the name of part marked as ‘X" in

the solenoid switch? | IieIS fga | x’ fA=m=
I UTE ST AT G ?
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Armature shaft | TR U

Shift lever | e forar

Pinion | ICIREE]

Fly wheel ring gear | m@aﬁw

OO w >

330 : Whatisthe name of device used in the
starting system? | ¥CieT fReH & T 814 Tt
SUBRU BT RTTH G ?

Armature shaft | 3R YU

Fly wheel | tm‘a‘%ﬁﬁ
Pinion gear | 0T 7R
Over running clutch | R T I

OO w >

331 : Whatis the type of starter motor circuit? |
C iV oC
Tl AR Ofdhe fFIUBPR B1 8 ?

O +
. o .
A Series type | #I’rl’mraéq
B Parallel type | WE’I@U
C Shunt type | I .
D Compound type | WE’I%U
332 : Whatis the name of part marked as ‘X’ in
the starting circuit? | TlfeT gfdhe & xR arat
O HI AT G ?
X
)
E 7‘___‘: F 41/17{1—0% i
= o ’ HE:
[ M=
iy

A Solenoid switch | Hroas fga
B Plunger | WIoR

C Battery |

D

Starter switch | i g

333 : Whatis the name of part marked as ‘X" in

the armature winding? | Waﬁ%"fﬁ X
e I i ST AR ?

womo0s
a0

Pole shoes | thﬁ‘{ﬁf
Brushes | SR

Commutator | EW{],%ET
Drive end bracket | @gﬁ@gm

334 : Whatis the name of part marked as ‘X" in

the armature winding? | Gﬂwaﬁmﬁ X’

OO w >

I U STRTTHEE ?
[omans |
e X

A Brushes | SIRIY

B Field coil | W?ﬁﬂgﬂ

C Commutator |

D Drive end bracket | ST%d UUS Sihe

335 : Whatis the working principle of
alternator? | WWW%@HW% ?

A : Ohmslaw | A ar

B : Law of resistance | I w1 fFaw

C : Electromagnetic induction | 3@5@'&@%
ERERE!

D : LenZslaw | ool &1 |

336 : Whatis the type of device? | SUDBIU b
TG ?
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= =
e Alhl‘\'\\ V.i
Zaall
] | 7 /
Al

A Alternator | 3R

B Distributor | %@:@ET

C Ignition coil | ‘s’f?r&fﬂaa’réa
D Condensor | '

337 : Whatis the name of part marked as ‘X’ in

the rotor assembly? | e 3w | xR
I UTE BT RTATH G 2

A : Connection to rectifier | Wg
AFRBRR

B : Laminated core | THAIRS PR

C : Slipring| faqu R’

D : Fieldcoil | fem'fﬁlgﬁ

338 : Whatis the material used to make diodes?

| SIS &I 9 & foTT fob wreiRae &1 uanT gie
?

A : Mica |'1:I'I§?b—[

B : Silicon |ﬁ|?ﬁ?ﬁ7‘f

C : Aluminafoil | T BIIA

D Graphite | a'cb—lé?f

339 : Which part of bendix drive starting system
limit the turning of the sleeve on the armature

shaft? | doaY STed wifT e d &1 $HIH 1 urd
3{THRR e R f&a o) ST I T g 2
A : Pinion |

B : Bendix drive spring | aéwﬁﬁawﬁﬂ

C : Antidrift spring | Q'_CPI%CE@'P\"‘T
D : Flywheel| m@ﬁ

340 : Whatis the purpose of slot provided in the
laminated cylindrical iron core of stator assembly? |
TR e Bl dffHfes Meifgdd sRA &R
AR W TR R ?
A : For lubricantion | WQF[%%I’Q

. For fitting insulated windings |
aﬁ%ﬂﬁo—daﬂ%@%ﬁ
C : For easy fitting | WW%W
D : Provide space for cooling | @ﬁﬂa;ﬁfq
SHTE T/ & forg

341 : Whatis the function of over running

clutch in the starting system? | it Rren #
R IATFA SRS B ?
A : Protect armature from damge | MR B
jcbszuri BEEIR]

: Prevent sliding movement of pinion | ot
ﬁwﬁ%ﬂaﬂzﬁm
C : Operate the solenoid | ?ﬁmﬁm
DAl

Drive the armature shaft | STHR YUe &

el

342 : How the alternator field terminal is
connected to the battery? | e & fhes
‘c’iﬁﬁﬁé’c"rﬁﬁﬁaﬁs’@ﬁ% ?

A By ignition switch | g@?ﬂf@am

B By indicator lamp | $ISOPC'{ R gIR1

C By charge indicator | mw‘é%&m LIy

D By voltage regulator | WWW

343 : Whatis the function of drive end frame in
the alternator? | 3ceXAeR | §3I$rd Qr—s’ﬁa—qu
Q2

A : Carriers driving pulley | @éﬁﬂgv_vﬁa’ﬁﬁ
HIAT

B : Connecting to spring loaded brush | i
ST SR Bl PHride HRAT

C : Allow current flow in one direction | IRE DI
T Bl fa=1 o 58 1 SgAfed &

D : Supportthe pre lubricated sealed bearing |

T Ielidbics Ties Al & Wi @Al

344 : Whatis the function of solenoid switch? |

e R eI sR g 2
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A : Open and close the circuit between primary

and secondary | Q@ﬁ\’:ﬁ?mﬁ$§ﬁﬂw
I QT 3R &g HRAT

B : Stepdown voltage from primary to secondary

winding | UTSHR} O QH S} AT db IRUEG
el

C : Close the contact between battery and
starting motor | Tifér AR @T%‘fﬁ%ﬁﬁa
BICI §G DAl

D : Shift the lever to engage the plunger | AR

P AU H P oT cfiar B FRve B3

345 : Whatis the function of rotor assembly? |
RASR ST BT T BRI g ?

Supports pre lubricated scaled bearing | o]}

P s e ST e

B : Carriers driving pulley and cooling fan |
ST Geetl 3R FiehT T o) )t BT
Allow the current flow in one direction | P3¢

1 o 2 5 ) S e

D : Supports rectifier mounting plates |

YFIBRR ST Wi &I Wie BT

346 : Which type of winding is connected to the

starter switch in the solenoid switch? | @ﬁﬂﬁ%’

é&ggﬁﬁﬂ%ﬂﬁmwﬁﬁ%ﬂm
?

Pull in winding | g,as‘rraé%ﬂ

Hold in winding | 3-1_6'37131%%"[

Compound winding | Waﬁ%ﬂ

Primary winding |

OO w >

347 : Whatis the minimum RPM of crank shaft

required to start the engine? | EE'GI:I P! Tle B

& foTU dhep IMUE B Y W HY fdba- RPM DI
W@?ﬁ% ?
A 180 RPM
B : 200RPM
C : 100 RPM
D 150 RPM

348 : Where the starter motor located? | wiex
Jﬂamwﬁ@‘cﬁ%?

Front side of engine | gﬂ?% 3T BT TREB
Rear side of engine | éﬁ?%tﬁ%’ﬁw
Top side of engine | ‘.ic\rl"l P W P NP

Bottom of engine | 5‘.G|:| & A P RE

OO W >

349 : Whatis the advantage of series winding
type starter motor? | ?ﬂﬂﬁlaﬁ%ﬂwlﬂa$
FNBRG§ ?
A : Produce high starting torque | ET%E‘?%T
'cf”fé?ﬁarm

:  Produce constant starting torue | FHTEce
Qﬂ%ﬂfﬁaam
C : Increase the life of armature | TR &I
NIELZCHEI
D : Less costof maintance | AT BT 9d HH
AL

350 : Whyitis necessary to disengage the
starter pinion from fly wheel ring gear once the

engine has started? | wgﬁqﬁﬁmﬁ
e Ul & uars a7 R & S v
H TR g ?
A : Prevent damage to starter motor | e
HIex &l TH A o Fa]
B : Prevent wastage of current | Wﬁaﬁ
Eﬁﬁ@faﬁm

:  Reduce the wear on commutator | WET
ﬁaﬂwaﬁmm
D : Increase the fuel efficiency | q{]ﬁ'mﬂ@
CACHEI]

351 : How the armature winding ends are

connected with commutator? | Gﬂﬁﬂ?ﬁ'lg'%ﬂ
TS HRICR & U fPg R Y Fae Bl g ?

A By welding | CIRUEAR

B : Bysoldering | Hics NI gRT

C

D

By riveting | dafdmgrr
By brazing | ST gRT

352 : Whatisthe purpose of alternator? |

AR BRI R ?

A : Produce more electricity at high RPM | BTst
RPM TR 31f¥ep SaifaeHifc ST

B : Produce more electricity at low RPM | i
RPM TR 31f¥eh Saifdedife s

C : Produce constant electric supply at high RPM
| BTS RPM TR T T Safageiiic ST

D : Produce variable electric supply at high RPM

| 1% RPM TR U dRTSd Salfae e &M

353 : Whatisthe function of diodes? | SIS
HIRTBRIG ?
A : Convert ACto DC | AC &I DC H dhde AT
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B : Convert DCtoAC | DC &I AC H ScaT
C : Stepup voltage | el &M
D : Step down voltage | Ticesl DI HH B!

354 : Which device used to prevent damage to
the battery and other electrical accessories? | é’cﬁ
R GO SAFeH T THRIRS B 5T Y T
%%ﬁﬁﬂﬁwmmﬂwmw% ?

A Voltage regulator | mw

B Current regulator | WW

C Distributor assembly | %E:‘I@ET STt

D Alternator |

355 : Whatis the adverse effect of fly wheel ring

to starter pinion ratio is very high? | Wﬁ@aﬁﬂ
R TefeR g Y2 &1 9gd sifties 81 &1
ST SRR BT D

A : Reduce the starting torque | Tifén i ®H
Rl

B : D%n;laTge to starter motor | Tefex Hiex &1
RCRIGH

C : Increase the starting torque | E’fﬁ‘TE’%W
deHl

D : Starter motor fails to start | Tfex e &1
¥l H & B g

356 : Why the brushes are provided with a
curvature at the bottom in the starting system? |

B3Il TuTTet & - &1 SR Iehdl o 1Y SI=1 i
ua:rﬁmﬁﬂ?r%'?

. Prevent wear on commutator | Wﬁ%
éima%aaﬁ%ﬁw

. Provide more contact with commutator |
wg%a%wa 3P Hicde T
C : Ensure proper heat dessipation | Ifra it
SRIO=H gRfgd ez

D : Provide ventilation to commutator | Eb_fﬂéa

B ITARA U HRAT

357 : Whatis the contributory cause of starter
motor running but not cranking? | Tl AR Id
g1 & QAfs ST 7! B X STPHT T HRUT g ?
A : Abnormally woem brush | T AR

B : Over running clutch slipping | 3R I
ESECINSERE]|

C : Faullty ECM circuit | ECM Tfdhe BT BRI

B

D : Poor contacting action of ignition | EI?IQ B
DI DI TR G3R g

358 : What will be the result of worn teeth of

ring gear in the starting system? | Eﬂ%"[ﬁl@ﬁ
%ﬁm%aﬁw@ﬁwwuﬁvﬁm ?

:  Motor running but too fast | e It
a%ra{%aﬁ[aéiﬂ
B : Motor not running no operating sound of
magentic switch | AleX gl daith, TAfed Raa &1
RIAT AEE el ghT
C : Starter motor running too slow | ?efewﬁa

3ffere G =il

D : Starter motor running but not cranking |
C Y AN U
Tefex Hiex daivh dfde b :lé|

359 : Whatis the possible cause of motor not
running and no operating sound of magnetic

switch? | BHfC e a1 SR 3frarst g
aﬁﬁvﬁa%maﬁ%wﬁmw%?
Burnt commutator | STl 311 Oh“idd%
Battery discharged |

Worn brushes | XRId Y
Worn pinion tip | fUlT w1 A s

%th>

360 : Why antidrift spring is provided in the

bendix drive starting system? | aéaﬂ?;ﬂéa Teffe
Ren o ¢ fgue fim ot yem fear o g2
A : Provide grip over armature shaft | &ﬂﬂﬂT

M R WIS & forg

B : Avoidthe side way movement of armature
shaft | STHER XM Pl Al s Jade I §9 & g
C : Prevent pinion striking fly wheel | ICIGEEE
TS S1d o Th_H & dM o g

D : Resist wear on the fly wheel | EIT“H_%O_GWF[W
JRR 1 A & forg

361 : Whatis the cause of low voltage output
from alternator? | 3fce’-1ex I dl dlcee 3{13c-Ye
BRI HRUTG ?

A : Faulty regulator | WW

B Loose mountings | oIl AT
C : Wornout bearing | WRIS IR
D

Loose drive pully | @Wﬂﬁ

362 : What causes charges at high rate in the

alternator? | Wﬁ%ﬁﬁﬁﬁw
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HRUE ?

A : Open rectifier circuit | 3T YGHBIR
Hfde

B : Open field current | 3N fihes e

C : Voltage regulator setting too low | il
Weie] AT 9ga o4

D : Voltage regulator setting too high | G| [Gei|

oex Hfem agd Siftie

363 : What will be the result of loose drive

pulley in the alternator? | Wﬁ@ﬁ@;ﬁﬂ
el T T IR0 gHT 2
A : Charges at high rate | E]gi_c'tﬁ RIS

B : Low voltage output from alternator |

3eeRAcR ¥ dl didied 313e-ge

: No change when engine running | Tﬁ_g%ﬁf
q%’raaéwaﬁm
D : Alternator noisy | 3fceIAe’ T 31are

364 : What causes no charge when engine is
running? | WW%WWE@W%@T
TSR 81 Biell 2

A : Drive belt loose | iﬁ?ﬁ@éaac_t'

B : Shorted rectifier | IRETS AaewrrR

C : Sticky regulator | few YaewrR

D : Brushes not seating properly | SIRIF DI

IOt = &1 T
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365 : Whatis the colour of pilot lamp provided

in the vehicle? | Sl d A feU URIde AW &1 3T

HR TS ?

A Red | dldd

B Green | X1

C : White | 9hg

D Orange | T

366 : Whatis the colour of front indicator

Iamps7 | BT 3fShex A BT RATHR BT g ?
A Red | ATl

B : White | g

C : Green|®Xl

D : Orange | Tt

367 : Whatisthe name of part marked as ‘X’ in
the flasher wiring circuit? | TAYR qrafa gfdbe o
fafgd x TE ST G ?

NWAAMAMAAA

Battery | st

Two way switch | g%%ﬁr
Flasher unit | Wgﬁ?
Flasher lamps | TSR o

OO w >

368 : Whatisthe type of head light? | %@'FHEE_C’
DI FTTPR G ?

Sealed beam head light | W@ﬂ%@ﬂ]ﬁ?
Halogen head light | %ﬁﬁ?%@ﬂﬁﬁf

LED head light | LED 3 @S¢

Double filament head light | S9d fthaHe

Fe e

369 : Whatisthe expansion of LED? | LED T
R g ?

A : Long electrical diodes | @Tmm
B : Light electronic diodes | ?’I’fgfgm
SIS

C : Light emitting diodes | TS ¢ SHICT SIS
D : Limited electrical data | Wﬁgﬁm

OO w >

370 : Whatisthe gas filled in the sealed beam

head lights? | %ﬂagaﬂﬂ%s?ré?ﬁﬁqxﬁﬂﬂuﬂ
gldie ?

A : Oxygengas | SfTRfier T

B : Nitrogen gas | qﬁaﬁ:{ﬁ?

C Argon gas |

D Hydrogen gas |

371 : Whatis the type of light fitting in the

vehicle? | AT H @Tsc fhfET &t RN UBR Bldll &
AN

A : Catridge type dome light | GbNC:I\TI CIC\ELI S

: Wedge base instrument light | a9 99
C : Parking light | tl'lﬁ?r[ﬂ'l"g_c’
D : Sealed beam head light | Hics d1H &€ dlsc

372 : Where the red colour indicator lamps are
provided in the vehicle? | Wﬁ?ﬂﬁﬁ%
fSTer A Fel iR gl g 2

A : Frontside | Wﬂ'lg_br

B : Pilotlamp | Ugde ol
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Cc : Sideofvehiclelaﬁqa'?ﬂ'lg_s'
D : Rearsidel%a’ﬁw

373 : Whatis the advantage of using side

indicator in a vehicle? | Wﬁ%g@'ﬁ%
TN HT RATAHE ?

A : Prevent accident while turning left and right
| ST9 &9 1 919 Y11 g1 dl g ¥ 9ardl §

B : Provide effective illumination |
AT UGH HRAT

C : Indicate the vehicle behind | %%aﬁﬂﬁ
CRIIE

D : Provide enough visibility | 317 fafoTaet
Uald el

374 : Whatisthe use of cornering lightin a

%ehicle? | U aTg A BT AT BT ITTNT T
?

A : Provide interior illumination | Eﬁﬁtﬁﬁ

AT T AT

B : Highlight the blind spot during bend | HIS &

TG 9 AlsC Wi DI gradse HRAl

C : Indicate traffic behind vehicle | ATg- & Ule

&1 <t g=IHT

D : Provide enough visibility to driver | EINCEED

11 fafSraedt gaM &

375 : Which type of head light provide 25%
more light than sealed beam head lights? | fg
THR B 88 AR 25 % 31fb AT el 7, Fes
dHH 88 18 & Hopraal

:  Neon type head light | W?@%@'W

A
B : Halogon head light | 6Q1IUI"I%_SQ'1I$C
C
D

LED type head light | LED €T3U 88 dlSc
LCD type head light | LCD E@%@’Fﬂg—d

376 : Which type of lights provide maximum
brightness in a shorter time? | MWﬁ?ﬂgﬁ'
&Y TG H SHfIGHTH THS TS HRA1 g ?

. LED light | LED @T3¢C

LCD light | LCD @TsC

Halogan light | %Fﬁﬁlq(_ﬂg?

Neon light | ﬁ'm:fﬂ'l_{?

OO w >

377 : Whatis the purpose of indexing pin

provided in the bulb case? | WWﬁE@%@W
o P71 SERI R B2
A : Complete the circuit | ﬂﬁo_c'q:\"[a"ﬁ'

B : Retainthe bulbin the socket | Tide H Iod
CIRLC]

C : Prevent damage to light | BRI D1 & Bl
RAdh

D : For easy identification | Wqﬁﬁ%ﬁﬂ

378 : Whatis the use of single red lamp of 24
watts fitted at the rear? | S B TRB @ 24 dic
& R U HTRTTANTE ?
A : Provide enough visibility | @ﬁmm
W%

:  Give indication the traffic behind | NS &
%ﬁmﬁm%m%
C : Helpdriver to see full width of road | dId®
B IS el VS S B TR HRal g
D : Provide interior illumination | 3R P NB
R Y& BT ©

379 : Whatisthe use of tail light? | éﬁ?ﬂgfw
TS ?

A : |Indication to vehicle behind | tﬂ@%ﬁ]@:{ﬁ
Tohd DHRAT

B : Indication to slowing down | T S B
&1 G

C : Provide interior illumination | AR DI TS
AT T AT

D : Provide enough visibility | 3 fafSaect
Yl -l

380 : Which light give indication to the traffic
behind the vehicle for slowing down? | EACks|

dTsc UGS <fthes PI aTe &1 T Ui H &1
b el 8 ?

A : Stop light | ETC[Fﬂg_C'

B : Foglight| q’ﬂ"T?l]é?

C : Domelight | @ﬂ?ﬂgﬁ

D Head light| %E'Fﬂg?

381 : Which light provide effective illumination
Y Y A C
during snowfall? | THIA & THY I Ul ATsC

SARGR A UG Il © ?

A Head light | %E'Fﬂ_g?

B : Parkinglight | qT%‘TFﬂg_C'
C Fog light | W(_“I'Ig?

D Stop light | El'q?‘l'l_'g?

382 : Whatisthe purpose of dome light circuit?

| ST ST Gfhe BT RT I ?
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A : Panel board gauges indication | Wﬂ@'
T & Hobd
B : |Interiorillumination | Wﬁm

. Used for parking vehicle on road | AS W
qﬁnaﬂmﬂv
D : Provide enough visibility to driver | AP Bl
PGP HE T |

383 : Which circuit provide miniature bulbs to

know the working gauges? | DY Gfbe A
?ﬁwwﬁ%ﬁﬁ%@ﬁ%ﬁﬁaﬁéﬁ
A . :  Panel light circuit | Wﬂ@ﬂﬁﬁ

B Head light circuit | %Eﬁlé‘c’?r%
C Parking light circuit | tITﬁv_’TFI'Ié_C’“GIﬁv_d
[of oC
D Stop light circuit | ¥CTU dlgC Hlh <
384 : Whatis the use of two small lamps fitted

front and rear of vehicle? | ?ﬂE:T% 3T AR Y

fire 3 BIC T HT R TN G 2

A : Used for visibility | m%ﬁﬂmﬂﬁ

B : Provide illumination | =M IaH B

C : Used for parking on the road | s R Ui
& T & forg

D : Provide caution to the driver | A Bl

AU UaH H & g

385 : Which lighting circuit provided with dip

and dim switch? | P I gfhe A fgy R fEw
%raaﬁ@ﬁ%?

A Parking light circuit | Wﬂﬁ?ﬂﬁﬁ’
B : Head light circuit | %Eﬂ'lé?ﬂﬁ?_d
C :
D

Panel light circuit | Wﬂﬁaﬂﬁv_ﬂ
Fog light circuit | q’ﬂﬂ?l'l’&f?ﬂﬁ??
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386 : Whatisthe device used in air conditioning

system? | waﬁﬂwﬁwﬁwﬁmmw
g HI-U1 USRI 87 (TR Ha T Req &
JUTNT {1 7191 98 IUSHR0T 1 8?)

A : Compressor | FUIR

B : Condenser | FroW

C : Receiver | R

D : Evaporator | W

387 : Whatis the name of device in air

conditioning system? | TOR BRI+ RICH |

A : Magnetic clutch | Afes aad

B : Condenser | ZECRany

C : Receiver | iR

D : Expansionvalve | Qa:\‘:l'a'ﬂ:fa'lc'_d

388 : Whatisthe name of air conditioning? |
TR SR BT A1 R g?

A : Compressor | HUR
B : Receiver | iR

C : Condenser | Fro W
D : Blower | 3R

389 : Whatis the name of device? | QRIT T
JUH] BT TG ?

Evaporator | W

: Condenser | PO
. Blower | SRR
: Expansion valve | WW

OO w >

390 : Whatisthe name of device? | GRIT T
JUHRUT BT T ATH ]2

p—

e

A

g mﬁﬁm@f i

A : Condenser | FeW

B : Evaporator | s%rqﬁ?\f
C
D

: Receiver | R
: Expansion valve | WW

391 : Whatisthe name of device? | ICEE: KA d
T ITEHRUT H1 T 1 §?

A : Ambient temperature sensor| U ﬁq’a

TR JIR
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B : Thermostatic switch | yrfefes fag

C : Expansionvalve | Qa:\‘:l'aﬂ:[a'lﬁ
D : Servo motor | gaf Alex

392 : Whatis the boiling point of refrigerant R-
134a?
| R-134a fThoIRe &1 QAR Wise (FaYHid fog)
Fg?
: 20.5°C
22.0°C
26.5°C
27.8°C

OO w >

393 : What should be the high air flow rate
permitted while doing performance checking in

automobile AC system? | OId &ﬁaﬁwqm

s & oY 1 AT SN g, A gard
aswaﬁs?cra?m-vﬂwﬂaﬁ%?

A 4 kg per min

B 6 kg per min

C 8 kg per min

D 10 kg per min

394 : Whatisthe name of device used in the

automobile AC system? | &ﬁWACWﬁ
TRIe fSaTgd &1 =14 1 82

P

A : Thermostatic switch | yrfefes feog
B : Expansion valve | QWQWW

: Amblent temperature sensor | Qﬁﬁ'@
D : Evaporator | @ﬁiﬁ

395 : Whichis not the part of servo motor

assembly? | ﬁﬁﬁﬁqm ST BT HIT
Tl g

A : Gear reduction unit | Wﬁ?ﬁsﬂ:{qﬁﬁf

B : Normal DC motor | YR 8.1, Al

C : Position sensor | TR IR
D : Expansion valve |Q5F\‘:IﬁQF[W

396 : How much DC supply voltage required for

servo motor? | W%WWWQ@
TS ] SR gt 87

A : 4Vto8V|4avIsgy

B : 48Vto6V|48VI6V

C : 35Vto8V|35VI8YV

D : 5Vto75V|5VI7.5V

397 : Which wire of servo motor connected to
power supply? | T4l ek Bt HI Tt dR UaR
TS & 1Y Shie! STt 82

A : White | G%g

B : Yellow | Uieht

C : Black | Al

D Red | dlcl

398 : Whatis the type of heat control system? |

ot o o=Iff 718 ST foeion et ford UehR
22 gt T ge et Ried fhd UsR o182

/

LT
[T

T

A : Ventilation system |aﬁﬁmﬁ|€n
B : Airblending heating system | W@%"T
ﬁ%ﬂ%@q
:  Water valve heating system | dIcX dled
ﬁ%ﬂ%@q
Automatic climatate control system |

&néﬁ%aa@?mﬁw

399 : Whatis the name of part marked as X’ in
the air blending heating system? | YU}

BT Red & « GRT <=ITT 7T YT T 1 914 82
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A : Fan | B (U

B : Interior | 3&‘”@? (Gm HI)

C Demister |

D Matrix | fn?w

400 : Whatisthe function of magnetic clutch in

air conditioning system? | @Tﬁ-‘ﬂﬁﬂmﬁ
Ffes o &1 7T P 82

A : Coolthe hot refrigerant | TH Yo e &
EUS’TW

:  Connect and disconnect drive to compressor
| Wﬁ@%ﬂaﬁﬁﬁﬁ 3R dre
C : Absorbs moisture in the system | R &

TH BT IRIAT

D : Control the refrigerant flow to evaporator |
SAURCR Y ApoRe & §8Td B! R B
401 : Whatisthe function of condenser? |

FroTR & FT B 82

A : Control the refrigerant flow | W%
§g1d &I FEfEd BT

B : Absorbs moisture in the system | Rreqd
T} &) G

C : Coolthe hot refrigerant | T YfhoiNe &
OUG] hAT

D : Convertrefrigerant to vapour | W?ﬁ

gy H gfafdd e

402 : Which part of air conditioning system
absorbs moisture in the system? | U4

ﬁwﬁaﬁqwmﬁwﬁwaﬁ@w%
A Expansion valve | Qa:\‘:l'a'ﬂ:fa'lc'_d

B Receiver | iR

C Condenser | Fro U

D Evaporator | séuﬁa

403 : Which part of air conditioning system
remove heat from air and transfer to the

refrigerant? | WWWW@?—W HIT
BT Y SO P! FApTerdr § 3R IhoRe o TR
W%?

A Evaporator | @ﬁiﬁ
B Condenser |

C Receiver | W?R

D Blower | 3R

404 : Which type of flow mode is selected if
outside is dusty and contaminated in car AC

system? | b TR & Tall g 1 =90 fobar
SITQT IS ST SMTaRUT ¢ RT 8 iR HR & Tl
ﬁwﬁﬁmwﬁ?

Recirculation mod%gﬁﬂwm

A
B : Fresh mode |
C
D

Heating mode | BifdTAIS
Defroster mode | fSTPIReI AT

405 : Which device acts as an evaporator
temperature sensing switch? | ﬁq—mmw
TIURER CHRR IR Rad &t aRg 1 Hral g2
A : Thermostatic switch | AR fee &=

B : Blower switch | 3R fgg

C Heater switch | eﬂa%%r

D Defroster switch | fomhex figa

406 : Where the ambient temperature sensor is

Iocated in the vehicle? | Tg- H UMUC ¢HITR
YW FET A ST 82

A : Behind the grill Iﬁ'CIT%tﬂ@'

B Rear side of engine | R’EITWE_S’SGFT

C : Frontaxle | The TR

D Top of servo motor | gaf e b eg d

407 : Whatis the function ambient temperature
sensor in the air conditioning system? | Y}
SR Rieey H Tfgue TrReR YW S &l
S g2

A : Monitor air temperature inside vehicle |
de-1 & 3iaR gal & AMYHT i §HIY G

B : Monitor air temperature outside vehicle |
a6 o STER §aT b ATUHM P ST G

C : Monitor air temperature in driver cabin |
STZaR hfe H §aT & ATUHH I §18 [GH1

D : Monitor air temperature at the exhaust |

TSRS TR BT & dTTH ! §TT TG

408 : What is the advantage of using servo
motor in air conditioning system? | @Tmﬁﬂ
ﬁwﬁﬁnﬁaﬁw&hmﬁ%wwn%

. High speed operation possible | I A DY
WW(EE‘@@&WW)
B : Suitable for precision control of rotation |
I & gei o o forg Sferd
C : Low cost of maintenance | I@R@1d DI HH
IR}
D : Suitable to prevent vibration | S DI HH

B o fery Iferd
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409 : Which sensor measures the actual body

temperature of passengers? | aﬁﬂmﬂﬂ?mﬁa‘r
& YRR P IATdD ATTH Bl HTOT 32

A : Smog sensor | T AR

B : Sunloadsensor | TA-dIS IR

C : Infrared sensor | Wﬁgw

D : Interior temperature sensor | 3R
gAY

410 : Which sensor causes off the outside air

inlet or other odours? | mwaﬁ’raﬁsﬁw

%@gma{mdﬁeﬁ?ﬁ% IR g Fa i
?

A Infrared sensor | Wﬁgw

B : Smogsensor | T IR

C Sunload sensor | TA-drs IR

D Temperature sensor | AT IR
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411 : What is the name of part marked as ‘X’ in
the horn circuit? | gﬁﬂﬁ?_c’ (tlﬁ'q?‘[) Hx GRT
&RITT 7T YT &7 T ATH 82

R J
FUSE =
X =

A Battery | st
B Solenoid switch | TiaHiss &g
C Horn relay | gﬁﬁﬁ
D Fuse | WSI
412 : Whatisthe type of horn? | ¥ iQ "TQB'ﬁ
BT UBR T 82 (ST AT 81 [T UbR BT ]?)

Air horn | Wﬁﬁ
Bulb horn | W%Ff

Electric horn | sﬁ%sﬁ(ﬁ?{ﬂﬂﬁﬁ)

Wind horn | fds

OO w >

413 : Whatis the name of Horn? | B'T:fw'_ﬂﬂ
T g?

M
g T |
]

A

Air horn | @Tﬁﬁ

Bulb horn | ac'_dgﬁ
Electric horn | g@r@a?‘e'”r:f
Horn relay | 81 Ral

414 : What is the expansion of GPS in vehicle
safety system? | dT8+1 1 YR&T YUl T ot 4.0,
1 AR 1 82
A : Global Placing Satellites | TS WIRAT
B : Global Positioning Satellites | AEd
uﬁ%ﬂwﬁvﬁ%ﬁr‘s’zﬂ

:  General Positioning Satellites | SRl
@Gﬂwﬁﬂﬁ%ﬂm
D : Global Preventing Systems | TAed HiafeT
Reew

OO w >

415 : Whatis the name of sensor used in the air

bag systems? | ﬁaﬁmwwaﬂwn?ﬁﬁ
I 3T 7T TR &1 R A 82

A : Masstype a|r bag system sensor | WE’I’&FC[
w 3R Reed

. Accelerometer type air bag system sensor |
Qﬁﬁﬂnﬁaeﬁqwéﬂﬁww
C : Interior temperature sensor | SRR
SRR YR (SRS qIHH UWR)
D : Infrared sensor | WW

416 : What is the name of part marked as ‘X’ in

the air bag inflator module? | @Taﬂw
Oiegd H %’ GRT SR T YT &1 A1 &7 82
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A : Clock spring electrical unit | ol BT
B : A|r bag module | wéﬂn@m

C : Steering column | TR siad

D : Steering wheel | TR sgld

417 : What is the expansion of ICAT in the
vehicle safety system? | Wﬁ?&‘ﬂmﬁ
S H A P TR F 52 A1 AT FT
TRT-TH TR

A : Indian computer advanced technology |

3f0sT HrogeR Usarg eoarol

B : Inteligent computerized anti theft system |
gcferoic HIeRIgss Ul Ite Red
C : Inteligent computer advanced techonlogy |

gIcleTolc IR TSaiY caHIalsl

D : Indian combat advanced technology |

(08T Pt TSIy SoTaroil

418 : What is the name of part marked as X’ in

the Horn assembly? | E’T:fwm?ﬁﬁ X' gRTaR iQ

T I BT T &2

!

sy

L]
A : Armature | 3R
B : Striker plate | W@E

C : Contact breaker | BT B
D : Diaphragm | SAhH

419 Whatisthetypeofhorn?lmw
B {5 TR 82 811 &1 UHR F1 82

Bulb horn | Wg\ﬁ
Air horn | Q'CITE'Ff

Vibrating type horn | d éalél E'I_g'qsﬁ
Wind tone type horn | ﬁgaq‘c’r%qsﬁ

OO w >

420 : Whatisthe advantage of multiplex
network? | e ey Sedd %WET”%?
A : Improve vehicle safety system | Eﬂ%?ﬁ
ﬁiwwnﬁﬁgm

:  Prevent malfunctioning of air bag system |
wﬁmﬁmﬁﬁ%
C : Reduce system cost and weight | Rcq &t
AT 3R Tl HH B

Determine vehicle tracking system | 5”37'[%

%Waﬁm(ﬁﬁ%m)

421 : Which system determine the vehicles
location by forming a triangle with a group of four

or more satallites? | S It yurTel! TR a1 31
JUTG! & UG & 1Y Ueh ADI0 §HIHR dT8-11 &
R T YR B 82

A : Triangulation | € 'ch:!!an:l
Reflective displays | Rudifaca fsawrg

B

C : Telematic |

D : Networking and Multiplexing | eafhT 3R
e TR

422 : Which sensor used for safer parking of
vehicle? | 379 ¥ HH-I1 YR TSt B JRfera
qTfehTT 3 forg ST faa ST 62

A : Infraredsensor | s‘%‘h—s@w
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B : Proximity sensor | RIS T
C : Crashsensor | FUIWR
D : Airbagsensor | Waﬂw

423 : Whatis the purpose of seat belt pre

tensioners? | Tie dee Ui WWWB@[@%?

. Hold the ocupant tightly in the seat | e ™
%wﬁﬁ@zﬁmﬁﬁw
B : Detect passengers weight | QI & YR &
fScde B

C : Preventthe side way movement of seat | e
1 Teh TRUT G-It bl AT

D : Protect the occupant from head injury | e
IR 98 Afdd &I RR A dic @ H 9§91

424 : How to confirm the satisfactory function
of air bag system? | W@TW%W
ST ! fhg a8 YRYT I Gabd g2

A : Air bag warming light come on during
starting and stopping | Wﬁﬁﬁ@?ﬁﬁ%
SR TR ST &1 AdTa-! Ase Pl 37T

B : Warming light on with engine running

throught | W%ﬂﬂﬁ%ﬁﬂ:{@?%a’ﬁaﬂﬁ:ﬁ
qTSC I ofdd 81
C : Warning light on and flash few times and go
out during starting | &Id’)l-&lﬁddldﬂl%xﬁ?@
wqﬁmaﬁﬁ?-@eﬁ A P R 18R oY

Peep sound on during starting | ETIFT%I‘TEHQ

ﬁﬁﬁ?wﬁaﬂuaﬁmﬁrm

425 : Which device inflate the air bag in few
milli seconds during vehicle collision? | W%

THIA B GRM DH-U1 GBI TR § B $S
fireht Sepus § e TaT R?

A Seat belt pre tensioners | e dee W-eT R
B : Steeringlock | Rk die

C GPS tracker | Gﬂ‘ﬂ@ %}b_{

D Inflator module | Wﬁl@ijﬁ

426 : Why seat belt and air bag systems are
necessary in the vehicle? | Wﬁ@?aﬂw

3R i SeT BT 5T T AP 62

A : Provide ventilation inside vehicle | Tﬂ?ﬂ%
3{&R dfc eI U $A & ferw

B : Preventthe steering wheel from turning |
TR & & o ¥ FaH & g

C : To protect the driver and passenger | dlcIch

aﬁ?ﬂﬁ%ﬁﬁ%%ﬂ
. To track the stolen car | Wﬁmﬁ%
mﬁ%ﬁ«m

427 : Whatis the purpose of engine
immobilizer? | S99 SHISITSIR BT T I 82
A : Electric opening and closing of door | fa_c{ﬂ?‘[
& GRI aRaTell B! FAT 3R §g BT

B : Used to operate horn relay | gﬁﬁ'@fﬁ
HTGRE AT (Hatferd H=eI)

C : Prevent from starting the engine | sﬁqﬁ

EINGRREEIR]

D : Tocompensate from sun light entering

vehicle | @ﬁmmﬂ%&mm{ﬁﬁ

428 : How much is the current consumption of
wind shield wiper motor? | ua:faaamwﬁaaﬁ
ga 9ud farat g2

A : 27t03.4Amps | 2.7 83.4 Amps

B : 2.2t03.2Amps | 2.2¥3.2 Amps

C : 1.8t03.2Amps | 1.8 9 3.2 Amps

D : 3.5t05.2Amps | 3.585.2 Amps

429 : Which type of horn consist electically
driven air pump forces air through plastic trumpet?

| 5 YR &1 g1 faorelt ¥ gem I TR U 9
1 81T g S 8aT &l WRedh T & gRI
m?ﬁ%?

A Wind horn | ﬁgﬂﬁ

B Wind horn | Bﬁsﬁ%meﬁ

C Air horn |®T

D Electric horn | Wﬂﬁ

430 : Which type of wipers are used for heavy

motor vehicles? | YR Hiex a1 § fa UdR &
AR BT SYANT [T STl 62

A : Hand operated wiper | %ts’&ﬁqi%ts’aw
B : Vacuum operated wiper | éaqqm

CIERES
C : Hydraulically operated wiper | €|‘%§ﬁ$

v

3OS TRW
D : Compressed air operated wiper | HURS

TR IS AW

431 : Which is the most commonly used wiper
in all motor vehicles? | a%?-waw%, S|
St Tt Hiex arg-l & SUART foham ST 82
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A : Electrically operated wipers | ﬁ?ﬁﬂ?ﬁl’lﬁ‘lﬂ

CIEER

B : Hydraulically operated wipers | m
FTferd aIsWR
C : Vacuum operated wipers | aaqu%ﬁ

CIERR
D : Compressed air operated wipers | FURS

TR Feiferd arswR

432 : What is the cause of horn does not
produce any sound? | gﬁﬁ%\tﬁm—s’ﬁ NICINK]
3T & FT HRUT 8 Thd 52

A : Relay point stuck up | ﬁﬁmﬁamwm
B : Fuse blown off | WWG’C{@W

C : Low voltage at horn terminal | Bﬁ%?ﬁﬁ:ﬁ‘l
IR 6HH dlecs BTG

D : Tone discdamaged | o few® &rﬁweﬁ

433 : What causes horn sounds continously
even switch is in off positon? | WW@W%
for g & dg g1 &1 Rufa & oft g1 AR srraret
FRAT | 62

A : Fuse blown off | WWW@W

B : Incorrectly adjusted relay | MWWFR_&'
Y TSORE g

C : Relay point stuck up | ﬁﬁthéchbH ST
%:”: Low battery voltage | St P dliceSl BT HH

434 : Why horn produces low improper sound?
| BT efft SrTHT 31TaTeT R Ul Rl 82

A : Cracked diaphragm | Idh S SIUTRTH

Fuse blown off | qqr:réﬁ?{@ﬁ@f

Relay points stuck up | ﬁﬁwﬁz%waﬁ

B

C :
|

D : Openfieldcoilwindinglqﬂ@aam
ST S G T >

435 : What s the necessicity of wiper unit? |
IRIWR e B STaLIHdl T 57
To see road and traffic clearly | 4S5 3R

NSl il Gl

B : To provide easy steering | TI'I@T@ ST
ESIEEARIY

C : Toreduce effert on the steering | ERRTwR
T dTell dTdhd Bl HH B & forg

D : To provide balancing of vehicle | Tﬂfﬂﬁ
e UaH B & forg

436 : Why power windows are provided with
lock out switch controlled by a driver? | qreR fdsT
DI SRR gRI T dle or3e faa & wy i
e ot ST 82
A : Preventaccident | gﬁzmﬁaaﬁ%%q
B : Provide effective operation | 1At ufchar
WW%W

: Improve easy handling | WW%
ﬁwﬁ%ﬁm

Prevent damage to windows | IEEEQ

RO s 4

437 : Whatis the cause of window glass is not
lifting while motor running properly? | EI'IE:fff

fag®! & RRI & SR T 359 & I HRUT g1 Il
g Se AR N i Sy A T 8l

A : Glass door channels unserviceable | A SR
I BT B 7 HIAT

B : Motor is defective | WWW@W

C : Window glass lifting regulator defective |

fd Sl T feiftidTT Ygeler &1 WRId g

D : Power window switch defective | UieR fdst
o a1 WRIE g

438 : Whatis the possible cause for immobilizer

antenna error? | @WWﬁW(ﬁ)%
T TG HRUT G Hahel g2

A : ECM problem | é?ﬁ@ (FqHH) s

B : Unregistered ignition key | W@Wgﬁlﬂq
Pl (key)

C : Poortransponderinkey | el § TR§
ARSIERY

D : Blown fuse | WSl DI SIcT SITT
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439 : Which labour act provide information
regarding accidents death, or disability? | ST
o 31fAIfam, gefed, Hid SR SUTTar & aR |
BRI UGH Bl 62

A : Employees statate insuracne act 1948 |
HHARY I AT (Tare) S1fATATH - 1948

B : EmployeesP.Fact 1952 | Wﬁw
(T) AT - 1952

C : Workers compensation act 1923 | HulgX
DHIAYRM (Tde) a9 - 1923

D : Minimum wages act 1948 | F=TdH MY
(Tae) AT - 1948

440 : Which act regulate the payment of wages

to certain class of persons? | Hiaug a7t & fdaal

ﬁm@a"rm YT oo Sifdfas & forar omar g
:  Payment of wages act 1936 | UHc ®IAFCY

Mfirﬁm:r 1938

B : Trade union act 1926 | %;c;qﬁm 3ffefrw -

1926
C : Minimum wages act 1948 | IBE= R Crees)
AT - 1948

Equal remuneration act 1976 | 9HIH

i‘ﬂ{;ﬁﬂzﬁ HfIFH - 1976

441 : Which manual provide information
regarding employment in india laws framed by state
and central goverments?

| URAH BT B D1-3 A3re 59 3R I
WHR GRT TS 715 & W11 ASHTR & IR H
amao—rfrua:rw—cﬁ%?

A Shop manual | wﬁa&m

B : Labourguide | W‘TI%?;

C : Owners manual | Gﬂv:l?ﬁﬁaﬁf

D Repair manual | RUGR g3/

442 : Which type of manual provide information
about engine no, chassis no and engine capacity?

| o5 U R &1 TUg3rd M TR, RIS TR 3R
sTrFrﬁ &A1 & R B ISR Y& Bl 82
Shop manual | Wﬁﬂ\’rﬁf

Labour guide | éaws—s’

Repair manual | f\"amflﬂ\?’ﬂ

Owners manual | &ﬂ’ﬂvﬁa&m

OO w >

443 : Which type of manual give details about
sequence of operation of the vehicle? | 316':[%

BT B HATTIR B B Uohal Bt faxqd

u1|-1or>|e|Wuob|e &1 B3 Sl 87
A Shop manual | ‘\’IquIEGIF[
B : Owners manual | Wﬁﬂ\’dﬂ
C : Repair manual | Wﬁﬁ\’rﬁf
D : Labour guide | WTIT&ZG

444 : Which type of ECU control the power
windows of vehicle? | WWW%@.{(ECU)

qTE & TUiaR [IS1 1 et Bl &2
A : ECM |SHTH.

B : EBCM | 5. &I T

C : BCM | STlEH.

D : vcMm | ardiEs.

445 : Which type of ECU is the combination of
ECM and TCM in the vehicle?

| e H T TR B33, ST, 3R

e"r%ﬂ@ o1y g?

A : pcM | ULEEH.

B : EBCM | 5.1 TH.

C : BCM | dElEH.

D : vcMm | ardiEs.

446 : What is the function of vehicle control

module? | T8 H @ deld HisYd o1 71 BT 82
A : Control actuators of engine | 3\_r|7f$
TFUCR &l FEfRd =1

B : Control engine and vehicle performance |
qTe 3R S &I IRBIHY B T &

C : Handle transmission | ?;W&m:rﬁ%@;a
DAl

D : Control anti clock brake system | QE"raaTm

b ReH dheid drAl

447 : Which type of ECU control actuators of
engine? | 591 & UaUCeR &1 fhd TR H1 5.9,

CIGINE
A : VCM | dlEiEE.
B : TCMm | d1.I1EH.
c : ecm |SHTH
D : EBCM | S.& .t wH

448 : What does the 3rd digit code no 9.
indicate system trouble in scan tool letter codes? |

3 31T BIS AT 9. Th+ ¢ AeR BIs | ReH

&1 qfiad &t a1 R 82
A : Ignition system | SRR Rieeq
B : Input/outsignal and controls |
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ZYe/3HT3eYe R 3R Heid
C : Emission system | Wf@l@
D : Computer system | Wﬁl@

449 : What does the third digit of system
trouble code no.6 deals with in scan tool letter

code? | 35 ¢ dleR BIS B Ren geliaa oie
&R 6 BT R 3ich 7T gl 82

Ignition system | SRR Rikew

Emision system | Q'Lﬁ"\yﬁﬁlm
Computer system | WW
Transmission system | E’F\‘T&Iﬂqﬁl@

OO w >

450 : What does the first unit identify in the
scan tool letter code? | W cd dR P H
UgdTH1 91 Ugdl e 1 Bl 82

A : Manufacturer unigue number | WW
ARSI

B : Trouble code reference system | IS BT
e & gad BT

C : Typeoferror | W%W

D : Specificfailure | TRIfhe ek

451 : What is the motive of vehicle information
report? | ATE- a1 RUIC BT AHUS ol §?

A : Provide information about vehicle
registration history | W%UWE’%W%
IR (G THGRY ST

B : Provide information about tracking of vehicle

| AT8 DI <fdhTT b aR | DRI UG BT

C : Provide information about vehicle safety |
qTe o1 YR&M & IR T THBRI U= Bl
Provide information about warming system |

éﬂﬁ?ﬁﬁ@%&ﬁﬁaﬂwqmm

ANSWERS :

1:B; 2:C; 3:C; 4:B; 5:D; 6:B; 7:C; 8:C; 9:C; 10:D; 11:An;
12:C; 13:B; 14:C; 15:A; 16:B; 17:A; 18:A; 19:C; 20:B;
21:C; 22:A; 23:A; 24:C; 25:D; 26:B; 27:C; 28:B; 29:A;
30:D; 31:A; 32:A; 33:B; 34:C; 35:B; 36:D; 37:C; 38:A;
39:C; 40:B; 41:C; 42:B; 43:A; 44:B; 45:B; 46:B; 47:A;
48:B; 49:A; 50:A; 51:C; 52:C; 53:A; 54:D; 55:B; 56:A;
57:C; 58:A; 59:B; 60:B; 61:D; 62:A; 63:D; 64:C; 65:C;
66:A; 67:C; 68:A; 69:C; 70:B; 71:B; 72:A; 73:B; 74:A;
75:B; 76:B; 77:C; 78:C; 79:B; 80:A; 81:B; 82:B; 83:C;
84:C; 85:A; 86:D; 87:A; 88:D; 89:A; 90:B; 91:C; 92:A;

93:B; 94:B; 95:C; 96:B; 97:A; 98:C; 99:C; 100:C; 101:C;
102:C; 103:C; 104:D; 105:B; 106:D; 107:C; 108:B;
109:B; 110:A; 111:C; 112:B; 113:C; 114:C; 115:B;
116:C; 117:B; 118:C; 119:C; 120:B; 121:D; 122:C;
123:C; 124:A; 125:D; 126:B; 127:A; 128:D; 129:B;
130:A; 131:D; 132:C; 133:B; 134:B; 135:C; 136:C;
137:C; 138:B; 139:D; 140:A; 141:C; 142:D; 143:C;
144:B; 145:D; 146:B; 147:B; 148:A; 149:A; 150:B;
151:A; 152:B; 153:C; 154:A; 155:D; 156:C; 157:A;
158:A; 159:A; 160:A; 161:C; 162:B; 163:B; 164:A;
165:C; 166:B; 167:A; 168:A; 169:C; 170:A; 171:C;
172:A; 173:C; 174:A; 175:B; 176:B; 177:C;, 178:B;
179:D; 180:A; 181:A; 182:B; 183:B; 184:D; 185:C;
186:A; 187:A; 188:C; 189:B; 190:D; 191:A; 192:B;
193:C; 194:C; 195:A; 196:B; 197:C; 198:A; 199:B;
200:A; 201:D; 202:A; 203:B; 204:C; 205:B; 206:D;
207:A; 208:B; 209:B; 210:D; 211:C; 212:B; 213:C;
214:A; 215:C; 216:B; 217:C; 218:C; 219:B; 220:C;
221:C; 222:C; 223:D; 224:C; 225:C; 226:B; 227:B;
228:C; 229:C; 230:A; 231:B; 232:A; 233:B; 234:C;
235:A; 236:D; 237:C; 238:C; 239:B; 240:B; 241:C;
242:A; 243:C; 244:A; 245:C; 246:A; 247:B; 248.C;
249:A; 250:B; 251:D; 252:C; 253:B; 254:C; 255:B;
256:A; 257:B; 258:C; 259:C; 260:A; 261:B; 262:B;
263:C; 264:D; 265:C; 266:C; 267:A; 268:B; 269:A;
270:C; 271:B; 272:A; 273:A; 274:C;, 275:A; 276:D;
277:A; 278:B; 279:B; 280:C; 281:D; 282:B; 283:C;
284:B; 285:B; 286:C; 287:B; 288:A; 289:B; 290:C;
291:A; 292:D; 293:C; 294:B; 295:C; 296:C; 297:B;
298:B; 299:A; 300:B; 301:B; 302:C; 303:A; 304:A;
305:B; 306:C; 307:A; 308:C; 309:B; 310:A; 311:B;
312:C; 313:A; 314:A; 315:A; 316:C; 317:A; 318:C;
319:C; 320:B; 321:D; 322:B; 323:B; 324:A; 325:D;
326:C; 327:A; 328:B; 329:B; 330:D; 331:D; 332:B;
333:C; 334:B; 335:C; 336:A; 337:C; 338:B; 339:B;
340:B; 341:A; 342:A; 343:D; 344:C; 345:B; 346:A;
347:C; 348:B; 349:A; 350:A; 351:B; 352:B; 353:A;
354:A; 355:B; 356:B; 357:B; 358:D; 359:B; 360:C;
361:A; 362:D; 363:D; 364:A; 365:B; 366:B; 367:C;
368:B; 369:C; 370:C; 371:D; 372:D; 373:A;, 374:B;
375:B; 376:A; 377:B; 378:C; 379:A; 380:A; 381:C;
382:B; 383:A; 384:C; 385:B; 386:A; 387:A; 388:C;
389:D; 390:B; 391:B; 392:C; 393:C; 394:C; 395:D;
396:B; 397:D; 398:C; 399:C; 400:B; 401:C; 402:B;
403:A; 404:A; 405:A; 406:A; 407:B; 408:A; 409:C;
410:B; 411:B; 412:A; 413:C; 414:B; 415:A; 416:C;
417:B; 418:B; 419:A; 420:D; 421:A; 422:B; 423:A;
424:C; 425:D; 426:C; 427:C; 428:A; 429:B; 430:D;
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431:A; 432:B; 433:C; 434:A; 435:A; 436:A; 437.C;
438:A; 439:C; 440:A; 441:B; 442:D; 443:C; 444:C;
445:A; 446:B; 447:C; 448:B; 449:C; 450:C; 451:A;
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